Modi Public School, Siliguri
Annual Examination 2022-23

Class 9A English Language & Literature Time:3 Hr F.M.:80

GENERAL INSTRUCTIONS

The Question Paper is divided into THREE sections- READING SKILLS,
GRAMMAR & CREATIVE WRITING, and LITERATURE.

SECTION-A READING SKILLS [20 marks]
I] Read the passage and answer the questions that follow. [10x1=10]

1] Corona viruses were discovered in the 1960s. The name ‘corona virus' is derived
from the Latin corona, meaning crown or halo. The new type of corona virus
outbreak came to light on 31st December, 2019 when China informed the World
Health Organisation of a cluster of cases of pneumonia of an unknown cause in
Wuhan city in Hubei Province.

Subsequently the disease spread to more Provinces in China and to the rest of the
world. The WHO has declared it a pandemic. The virus has been named SARS-
CoV-2 and the disease is now called COVID-19.

2] Some of the symptoms of the corona virus are fever, cough, runny nose, sore
throat, headache and trouble breathing. These symptoms are very much like those
people who have cold or the flu. The virus can be more serious in some people,
especially if they are sick or have a weak immune system, like the elderly people.

3] The virus appears to spread mainly from person to person. The transmission
occurs when someone comes into contact with an infected person. For example, a
cough, sneeze or handshake could cause transmission. There is no specific vaccine
or medication to cure the disease, but generally, symptoms will go away on their
own.

A set of preventive measures are usually followed in case someone gets infected.
This includes keeping infected people in quarantine for a certain period, generally
fourteen days.

To protect oneself from the virus, here are six recommendations to follow:

v" Avoid contact with people who are already infected.

v" Wash your hands well and regularly with soap and water or use hand
sanitizer.

v Avoid touching your eyes, nose and mouth if you haven't washed your
hands.

v" Clean and disinfect surfaces and objects that people touch a lot.

v/ Stay home when you are sick.
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Data of Top Five Countries (as on 25" August, 2020) affected with corona

virus.
Name Cases-cumulative total
Global 7 | 23,311,719
# = United States of America 5,612,163 pummmm
E&3 5razil | 3,582,362 g
st [ndia ‘ 3,106,348 TR
e Russian Federation 961,493 s
>
South Africa | 609,773 -
"V. Peru ' 585,236
1] The word 'corona’ in Latin means
a] square b] crown or halo c] crowd d] round

2] When did China inform about the new virus?

a] On 31st December, 2019

¢] On 30th November, 2019

3] The first case of this virus was reported in:

a] The Hubia city of China b] Beijing, China

c] New Delhi, India

4] What does the word 'Pandemic' mean, in the passage?

a] A disease prevalent over a city

b] A disease prevalent over a state

c] A disease prevalent over a whole country of the world.

d] A disease prevalent over a few cities.

5] What is the name of the virus which causes Corona?
a] SAARC-CoV-19

b] Covid-19 c] SAARS-CoV-19

b] On 30" December, 2019
d] On 20" December, 2019

d] Hubei province of Wuhan city in China

d] SAARS-CoV-2
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6] Which organisation declared the virus as a pandemic?

a] World Health Department b] World Healthy Organisation

c] World Health Organisation d] World’'s Health Organisation

7] is one of the symptoms of COVID-19.

a] High bp b] sore throat  c¢] High blood sugar d] rashes on the skin

8] According to the passage, which country has the maximum corona virus
cases?

a] India b] Peru c] USA d] Brazil
9] Which word in para 1 is the synonym of collection?

a] Outbreak b] spread c] cause d] cluster
10] Which of the following is TRUE regarding the passage?

a] It suggests a cure to the disease

b] According to it, the pandemic is natural.

c] It tells us about the new pandemic

d] China has reported highest no. of cases of infected people

II] Read the passage and answer the questions that follow. [10x1=10]

1] During our growing up years, we as children have been taught- both at home and
school-to worship the photos and idols of the Gods of our respective religions. When
we grew a little older, we were told to read holy books like the Bhagwad Gita, the
Bible, and the Quran; we were told that there are a lot of life lessons to be learned
from these holy books. We were then introduced to stories from our mythologies
which taught us about ethics and morality- what is good and what is bad. | also
learnt to be respectful towards my parents who made my life comfortable with their
hard work and love and care, and my teachers who guided me to become a good
student and a responsible citizen.

2] Much later in life, | realised that though we learn much from our holy books, there
is a lot to learn from our surroundings. This realisation dawned upon me when |
learnt to enquire and explore. Everything around us- the sun, the moon, stars, rain,
rivers, stones, rocks, birds, plants and animals- teach us many valuable life lessons.

3] No wonder that besides the scriptures in many cultures, nature is also
worshipped. The message that we get is to save our environment and maintain
ecological balance. People are taught to live in harmony with nature and recognise
that there is God in all aspects of nature. Page 3

4] Nature is a great teacher. A river never stops flowing. If it finds an obstacle in its
way in the form of heavy rock, the river water fights to remove it from its path or finds
an alternative path to move ahead. This teaches us to be progressive in life, and
keep the fighting spirit alive.

5] Snakes are worshipped as they eat insects in the field that can hurt our crops,
thus protecting the grains for us. In fact, whatever we worship is our helper and
makes our lives easy for us. There are many such examples in nature, but we are
not ready to learn a lesson. Overcome with greed, we are destroying nature. As a
result, we face natural disasters like drought, flood, and landslides. We do not know
that nature is angry with us.

However, it is never too late to learn. If we learn to respect nature, the quality of our
life will improve.

1] Why does the writer say that we should 'respect' our parents and teachers?
a] Parents have made our life comfortable with love and care.

b] Teachers have guided us in becoming a good student.

c] Teachers have guided us in becoming a responsible citizen.

d] All of these

2] Select the option that corresponds to the following relation below:

The Bhagwad Gita: Holy Book :: The Moon :

3] Complete the following [OPINION] with a phrase from paragraph 3.

OPINION REASON

? Respect all life around us

4] The writer says," A river never stops flowing. If it finds an obstacle in its
way, it finds an alternative path to move ahead." What do you learn from
nature? Select the correct option.
a] to be progressive in life b] to face obstacles
c] to never give up d] to face the challenges
5] Supply 1 point to justify the following: [Paragraph 1]

When we grew a little older, we were told to read holy books like the Bhagwad Gita,
the Bible and the Quran; we were told that there are a lot of life lessons to be learnt
from these holy books.
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6] Evaluate the APPROPRIATE option that lists what will happen when we

learn to respect nature.
a] The quality of our life will improve. b] We will become more confident.
c] We will learn many valuable life lessons. d] We will become a good citizen.

7] Based on your reading of the text, list any one reason why the writer says
that : "Snakes are worshipped." [Paragraph 5]

8] What message do we get when we worship nature?

9] The writer says," We were then introduced to stories from our
mythologies."[Paragraph 1]

The stories from our mythologies taught us about:

a] ethics and morality b] religious
c] quality of our life d] holy books

10] Select the option that tells what we are taught in our childhood and
growing upyears.

a] to worship the photos and idols b] to be progressive in life
d] both a] and b]

SECTION B- GRAMMAR and CREATIVE WRITING [20 marks]

b] to read holy books

1] Complete the following passage with appropriate form of verbs. [4x1=4]

I (a) (run) for a bus when | (b) (hit) my foot on something on the
pavement and (c) (fall) over. | tried to get up but could not (d) (move). |
had terrible pain in my left foot.

IV] Complete the following passage using the appropriate modals. [4x1=4]

If you (@)  some assistance organizing your desk, your cupboard, and your
room, Tidy Teens (b) help. This student-run group raises money for charity
by cleaning up. “We didn'’t realize it when we started, but we (c) thought of a
better way to raise money”, says 17-year-old Brian Mason, who helped establish the
group. We (d)____ support such groups.

V] Read the dialogues and complete the report. [2x1=2]
“Mansi: Do you know who will be presiding over our annual function?
Priya: | was told an eminent poet has been invited.

Mansi: Are you talking about the Indian poet, Anuradha Bhattacharya? Page 5

Priya: Yes.”

Q] Mansi asked Priya . Priyareplied that

VI] During the summer vacation, you (Piya / Pratham) and your friend enrolled in
“The School for Flying”. While training, you had an interesting and unforgettable
experience. Share your experience in the form of a diary entry in 150-200 words,
expressing what you have learned till now. You can use the hints given below.
[5]
» Aviation adventure; fun and knowledge
» Imparts flying instructions with advanced planes and modern
technology like GPS
» Practical experience in challenging weather
» Develops good judgement, decision-making, and proficiency skills

VII] A free health camp was organised by your school during autumn break. Well

known health specialists were invited on this occasion, Write a description on the

event. [You may use the clues given below].

The date — venue - number of students and people who benefitted from this

camp - purpose - Chief Guest. [5]
SECTION-C LITERATURE [40 marks]

VIII] Read the given extracts carefully and answer ANY ONE of the following
questions below. [5x1=5]

A] “The McDonald’s lived next door. They had five children. Looking through a
gap in the fence, the little girl saw them playing “tag” in the evening. The
father with the baby, Mao, on the shoulders, two little girls hanging on his coat
pockets ran around the flower-beds, shaking with laughter. Once she saw the
boys turn the pose on him and he tried to catch them laughing all the time.
Then it was she decided there were different sorts of fathers.”

i] How are the relations of the little girl with her father?
a] affectionate b] attentive c] fearful d] dislike

ii] What sort of difference did the little girl notice after watching Mc Donalds
with the children?

a] kindness b] fun-loving c] communicative d] weird

iii] Choose the option that lists the set of statements that are NOT TRUE
according to the given extract.

1] Little girl was afraid of her father.

2] Little girl didn’t want to stay with her father. Page 6



3] Little girl always admired her father for his good behaviour.

4] Little girl wanted her father to be like Mr. McDonald.

5] Her father was a fun-loving person.

6] Both father and daughter had a strong bond as they share everything.

a) 2,34 b] 1,2,4 c] 3,56 d] 4,5,6
iv] Pick the option that correctly classifies Fact/s (F) and opinion/s (O) of the

students below.

1] I think the little 2] I think the little girl’s
girl accepted that her father was stressed with
father will not be like his work

McDonalds

4] I think Kezia should put
more efforts towards her
relationship with her

3] I think no matter
what he should spend
time with Kezia father

a]F-1,2and O-34 b] F-2,3,4and O- 1

c] F-2 and O-1,3,4 d] All are opinions

v] Which phrase is incorrect with regard to “hanging”?

a] hanging time b] hanging coat c] hanging chair  d] hanging lights

B] “A slumber did my spirit seal —

I had no human fears.

She seemed a thing that could not feel
The touch of earthly years.”

i] Whose slumber is referred to here?

a] poet’'s mother b] poet’s wife c] poet’s beloved d] poet himself

ii] In the given lines, the poet is:
a] wondering b] regretting c] grieving d] can’t say
iii] The phrase “l had no human fears” indicates that:

a] the poet was courageous b] the poet could not believe in something

c] the poet was fearless d] the poet had taken his beloved for granted Page 7

iv] What is the rhyming scheme of the poem?

a] abcd b] aabb c] abab d] free verse
v] The phrase “the touch of earthly years” mean:

a] active and living b] life on earth
c] the touch of beauty of the earth d] none of the above

IX] Read the given extracts carefully and answer ANY ONE of the following
questions below. [5x1=5]

A] “The two men were hungry. Now that the shops were open, they went to
buy some groceries. To their astonishment, they found that everything cost
the same, a single duddu- whether they bought a measure of rice or bunch of
bananas, it cost a duddu. The guru and his disciple were delighted. They had
never heard of anything like this. They could buy all the food they wanted for a
rupee.”

i] Why the Guru and his disciple were delighted?
a] As everything cost the same

b] They were amazed by the actions of the people

c] They were overjoyed by the beauty of the kingdom
d] None of the above

ii] Choose the options that lists the statements that are NOT TRUE according
to the given extract.

1] The guru and his disciple were hungry.

2] The guru and his disciple found the kingdom strange.

3] The disciple wanted to leave the kingdom.

4] The guru had recognized the Kingdom of Fools.

5] The guru wanted to have cheap food and decided to settle in the kingdom itself.
6] The king and the minister of the kingdom were wise people.

a]1,2,3 b] 2,3,6 c] 3,5,6 d] 4,5,6
iii] Which word does ‘astonishment’ NOT correspond to?

a] amazement

b] composure c] confusion d] shock
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iv] Why were the shops closed in the kingdom before?

a] everyone was asleep during the daytime

b] there was a rule that businesses will be run after dark

c¢] nobody wants to work in daytime

d] both a] and b]

v] Pick the options that correctly classifies fact/s (F) and opinion/s (O) of the

students below.

2] I think people of
the kingdom were
smart working for a

1] I think Guru
and disciple
were wiser

4] I think the guru
wanted to leave the
town as soon as

3] I think people
were cowards to go
against the king

a] F-1,2and O- 3,4 b] F-2,3,4and O- 1

c] F-2,4 and O-1,3 d] F-3,4 and 0-1,2

B] “ ‘We must really issue a proclamation that birds are not allowed to die
here.” And the town clerk made a note of the suggestion. So, they pulled down
the statue of the Happy Prince. ‘As he is no longer beautiful, he is no longer
useful ,’ said the Art Professor at the University.

i] Who spoke the words in the first line of the above extract?
a] town councillors b] mayor c] people of the city d] town clerk
ii] Who pulled down the statue of Happy Prince and why?

a] people of the city pulled it down as it looked shabby

b] people of the construction company pulled it down to renovate it

c] theatre people pulled it down accidentally

d] the town authorities pulled it down due to the order given by mayor Page 9

iii] The phrase “pulled down” means:

a] to remove b] to modify c] to destroy  d] to push it aside
iv] The statement that is TRUE about the statue is:

a] it was no longer beautiful b] it was no longer useful
c] it was admired for the king’s sacrifice d] both a] and b]

v] Which of the following expressions is incorrect with respect to the word
“proclamation’?

a] announcement b] declaration c] augmentation d] statement
X] Answer ANY THREE of the following questions in 30-40 words. [3x3=9]

a] “I took the one less travelled by. And that has made all the difference.” What is the
speaker saying here?

b] The little woman’s refusal to part with the cake is a mirror of her character. How?
c] Explain the usage of : “anchoring earth” .

d] Describe the room in which the homeopath doctor lived.

XI] Answer ANY THREE the following questions in 30-40 words. [3x3=9]
a] What was the condition of the child when he lost his parents?

b] Describe the things Sue did to make Johnsy interested.

c] Did Toto enjoy taking a bath?

d] What made Iswaran so imaginative and a good narrator?

XIl] Answer ANY ONE of the following in 100-120 words. [6x1=6]

a] How does the poet visualize the morning, noon, evening and midnight at
Innisfree? How are they different from where he now is?

b] How was Evelyn Glennie, able to become the world’s most wanted percussionist?
What are her achievements?

X1l Answer ANY ONE of the following in 100-120 words. [6x1=6]

a] “Behrman’s visit to Sue’s flat was a blessing in disguise for Johnsy.” Justify the
above statement.

b] “The statue of the Happy Prince and the name given to him is ironical.”
Elaborateall the ironies in the lesson “The Happy Prince.”
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Modi Public School, Siliguri
Annual Examination 2022-23
Class 9 Language 2 — Bengali Time :3Hrs  F.M. :80
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Modi Public School, Siliguri
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50] “Srer’ Y AL H BT 2

i) | ii] g | iii] Tdq | iv] S |

e fagueT wor vt 51 3R 58 TEAERT § TET THHEN H 4 TST TR I T8 | [4x1=4]
51] ‘T SHISATERT TAATHT i &1 2

] T I | ii] SIS gaTeReT | iii] A=A iv] TAFEA |



52] forgeTE- SRt SAA H BT 2

i] ST AT EEeR 9 | ii] frgresent ¥ |
iii] AfeREERT 9T | iv] TrI=T S fcheeh! 9 |
53] AGLRT BRIHT ATH < forar 2
i | ii]oe | iii] ¥ | iv] T |
54] feoTrater > HATERT HATHR T 2
i[fargraTaT wigter | ii] eSS AT | ] O TR e | iv] TR USR] |
55] fevTTaTer SHATHT THUTETH TATATATATS o WoR SISy 2
iJao T | if] THoo | iii] ToTHo | iv] THo Ho |
56] sreTeTs <At forg 2
i] 3%er | ii] ST TRIRT hTH B AT | iii] SR | iv] fvea |
57] TG hiaTe BT feagent farg 2
R | ii] SeTeETeRT @it | iii] = | iv] T AT |
58] ‘ShTcTehe’ T T2 &I 2
iffe | ii] oy | iii] 37 | iv] FAR |
38
TUE T [ v |
e sereee ST g :
59] “fermTTaiter > SHeqTT ST HeloiTeh BIg el Fh! THTVT FE feguh! o 2 [2]
HYAT
ST THITATS o TeedTg 4T 2
60] “TeRTTaiTer sheITenT T@hant T o &1 ? ALY TRICATS Tl FAUh! TLTATT TTHT forT 2 [1+1]
61] T T TrITCT 3ehT T3] h — ! ETEFS 2 o ITew Aleam ar o 2 [2+1]
AUAAT
0T T TTTS ST SHTST ST bl b1 T2 2 s T SRUTehT ToSRImT 3eh! o fora fort 2
Tuggs [T ufer |
Freafaitaa weeEes s aege ™ :
62] 8o JeTHiaTTgY Bofiet Fo qeceroh! it “Hfeca STehTaHl” qUehR STH T oI 2 SOa 2! 2 91
HE? [1+2]
63]gTo geﬂﬂ%lg{ ATel AIGIhT ST JEdshe®ehl TH TEfely | [2]

TS A [|TTEe Fer]
Frafafam wereent sw Y |
64] TS SATEAT T : [4]
“ofefteTrs T 2TfcTeh St 3 BIASH | oo e i AT ? FHedlS] A W h T, 41

WM U HIE R, 39T SA1ET T ATk 37 Girar | Jgeent @ e |
65] ‘FIgY UTGHT TIErehet TATAT WTHTEATS STRAT AT Sl THEAT FETURT FTWE HTAT TEHT B
? 3]

66] ‘Tt uTeHT FrEe WTge FIET 3 T CrEeh! TER SIUTET W ? “TSiehen! dtel 3eTr it aTef
TTSehRT ATIRAT ACTR | [2+2]

67] “TTA THITATHT T HEAT FTAHT FAT TNERT T ? I FTAC chehl HUHT hireht drer fwsht o 2

arera 2]
FTe hferamT i foR Ttde 2
TUE AR [T T AT 19T |
68] FreTeTRaaAea T T3eT ToraamT 150 YTegavwen! o fHaer T THe | [5]
3] feremeff Sfiarar st |
7] TS et A1 feremeffewnTtor aeehr g |

69] “Forem 3 T g B e U TS WfiTs U ST T e |

Ty
IR, TS THTHT FHET & HT HAAT G ATETED O ol SHRUTEIRT FH 1 ToRTeh! FHAT STHT 1T |
TR TAHATEATIHTATS FH STHT T Fehehl SHRUT STSe HH STHT [l ST 716 3T ST 0

| [5]
70] AT STTATE TR : [5]

1] We cannot live without water.
ii] The children are playing in the garden.
iii] She loves to play with dogs .
iv] It has been raining since last evening.

v] We wake up early in the morning .



Modi Public School, Siliguri
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General Instructions:
1. This Question paper contains- five sections A, B, C, D and E. Each section is
compulsory.
2. Section A has 20 MCQ's of 1 mark each.
3. Section B has 5 Short Answer type questions of 2 marks each.
4. Section C has 6 Short Answer type questions of 3 marks each.
5. Section D has 3 Long Answer type questions of 4 marks each.
6. Section E has 4 case based integrated units of assessment of 5 marks each with
sub parts.
Section A [1x20=20]

1] Rational number between % and% is

5 5
al — b] = = d] =
2] Degree of a constant polynomial is
ajo b] 1 c] any natural number d] not defined
3] The point at which the two co-ordinate axes meet is called the
a] Abscissa b] Ordinate  ¢] Origin d] Quadrant

4] If one third of an angle is equal to its supplement then the measure of the angle is
a] 135° b] 125° c] 105° d] 110°

5] If the diagonal of a quadrilateral bisect one another at right angles, then the
guadrilateral is a:
a] Rectangle
c] Rhombus

b] Trapezium
d] Cyclic quadrilateral

6] The base of a right triangle is 8 cm and hypotenuse is 10 cm. Its area will be
a) 8 cm? b] 16 cm? c] 24cm? d] 30 cm?

7] The total surface area of a cone whose radius is % and slant height 21 is
al 2nr (I+71) bl mr (I +71) clrr (I + E) d] 2rrl

8] ABCD is a quadrilateral whose diagonal AC divides it in two parts of equal area,
then ABCD is a
a] rectangle b] rhombus

c] Parallelogram d] None of these

9] The sum of the probabilities of all events of a trial is

all b] greater than 1 c] less than 1 d] between 0 and 1

10] The range of the data is 25, 81, 20, 22, 16, 6, 17, 15, 12, 30, 32, 10, 91, 8, 11, 20
is

al 10 b] 75 c] 85 d] 26

11] The area of a rhombus if the diagonals are 16 cm and 24 cm is

a] 180 cm? b] 184 cm? c] 198cm? d] 192 cm?

12] Rationalizing factor of 2 + /3 is

a]2—+3 b] V3 c]2 +3 d3 +v3

13] Equal chords of a circle subtend equal angle at

a] Centre b] Circumference c]Botha &b d] None of these

14] Degree of the polynomial 3x - 1 is

alo b] 1 c]2 d] none of these

15] If §+ >=-1 (x,y # 0) then find the value of x* - y*
al 1 b] -1 cl; dj o

16] Any point of the form (a, —a) always lies on the graph of the equation
alx=-—a bly=a cly=x dx+y=0

17] In triangle ABC, 2C = 2£A and BC = 4cm and AC = 5c¢m then find length of AB
al 5cm b] 3cm c] 4cm d] 2.5cm

18] In figure if LOAB = 40° then find £ACB

a] 50° b] 30° c] 40° d] 100°

19] The perpendicular distance of the point P (3,4) from the Y-axis is

al 3 b] 4 c]5 d 7
20] Which of the following is rational number
a2 b] V3 c] 2v/5 d] \/%
Section B [2X5=10]

21] An angle is 15° more than twice its complement. Find the angle.

22] Find the value of k, if x - 1 is a factor of p(x) = kx? —3x + k.

23] Prove that{x*b}a-b {yxb*c}b=c {yctajc-a — 1

24] In AABC, AB =5 cm, BC= 8 cm and CA= 7 cm. If D and E are respectively the
mid points of AB and BC determine the length of DE.

25] Factorise: x3 — 2x2 —x + 2


tel:2581%2020%2022%2016%206%2017%2015%2012%2030%2032%2010%209%2012%208

Section C [3X6=18]

26] If the polynomial p(x) = x3 + 15x2 + 9x — a is divided by (x+4) it leaves a
remainder 10. Find 'a’.

27] Recent survey found that the ages of workers in a factory is distributed as
follows:

33] A random survey of the number of children of various age groups playing in a
park was found as follows.

Age in Years

20-29

30-39

40-49

50-59

60 and above

No of Workers

38

27

86

46

3

Age (in years) Number of Children
1-2 5
2-3 3
3-5 6
5-7 12
7-10 9
10-15 10
15-17 4

If a person is selected at random find the probability that the person is
i] 40 years above

ii] Under 40 years

iii] Age 30 to 39 years.

28] In the given figure lines p and r are intersect at O if
x = 45° find y,z and u.

29] The radius of the circle is 29 mm and OY is the perpendicular form the centre to
the chord MN meeting at X. Find the length of XY if the length of the chord MN is 42
mm.

30] A right circular cylinder just encloses a sphere of radius r. Find
i] surface area of the sphere

ii] Curved surface area of the cylinder

iii] ratio of the area obtained in i] & ii]

31] Find the value of aand b

7+V5 7—-+v5 7
VS _T=VS_ v T e
7-vV5 7++5 11
Section D [4x3=12]

32] ABC is a triangle in which altitudes BE and CF to sides AC and AB are equal
(see Fig.). Show that

(i) AABE = AACF

(i) AB = AC, i.e. ABC is an isosceles triangle.

Draw a histogram to represent the above data.

34] If a line intersects two concentric circles (circles with
the same centre) with centre O at A, B, C and D, prove
that AB = CD (see figure).

AD

Section E [5x4=20]

35] In a one-day International cricket match between India and Australia played in
Ranchi two Indian batsmen together scored 175 runs. Consider, runs scored by first
batsman as x and runs scored by second batsman as y to answer the following
questions:

[i] Linear equation for the given situation is:
alx—y=175 b] 2x +y =175 clx+y=175 d-x—-y=175
[ii] In Linear equation ax + by + ¢ = 0, wherea,b and c are

a] Strictly natural numbers b] Strictly whole number

c] Strictly irrational numbers d] Strictly real numbers

[iii] If runs scored by first batsman is 50 more than the second batsman, then linear
equation in this situation is:
aljx—y =250

c] x — 50y =100

bl]x+y =50
d-x—-—y=-50

[iv] If runs scored by second batsman is twice the runs scored by the first batsman
then linear equation in this situation is:

alx—2y=0 bljx+2y=0 2

Cl—x—-y=2 dx+y=2

[v] A linear equation in two variables has:

[a] no solution [b] infinitely
solution

[c] one solution

many

[d] two solutions



36] During Republic day parade, the PT Teacher

beautifully arranged the position of 4 students of Class ‘

IXth in the ground using the concept of Co-ordinate i :
Geometry. He used the first letter of student's name e.g., e A e
A for Anit, B for Basu, D for Debolin, E for Esha and so e e
on, Now answer the following questions: Fird i e

i] The perpendicular distance of Point B from the y-axis is J,Yﬂ——
(a) 5 units (b) 3 units (c) 2 units (d) 6 units

ii] The abscissa and ordinate of point A are respectively:
(a) 4 units and 0 unit (b) 0 unit and 4 units
(c) 4 units and 4 units (d) -4 unit and 0 unit

lii] Coordinates of point E are:
(@) (0.-4) (b) (4, 0) (c) (-4,0) (c) (0, 4)

iv] Coordinates of point D are
(@) (0,-5) (b) (0, 5) (€) (5,0 (€) (-5, 0)

v] If the position of a student is (-3, -5), then the student is standing in:
(a) I quadrant  (b) Il quadrant (c) Il guadrant (d) IV quadrant

37] A food pyramid is a representation of the optimal number of servings to be eaten
each day from each of basic food groups. It is designed to make healthy eating
easier. Health care NGO in India working for underprivileged children. In rural areas
health statistics are continue to poor. In this direction Health Care India has made
the children under the age of 13 aware of "food pyramid" by telling the importance of
different food groups such as carbohydrates, fats, vitamins, proteins, minerals etc.
The models of food pyramid which they have used triangle with sides 10 cm, 10 cm
and 12 cm.

Now answer the following questions.

(a) Find the semi perimeter of triangle.

(b) Find the area of food pyramid which is in shape of
triangle.

(c) Find the height of triangle.

(d) Which type of triangle is given in food pyramid?
(e) The pyramid was not coloured. It got painted at the Z

10cm 10 cm

Milk
vegetables

Bread, cereals and
potatoes

12cm

rate of rupee 19.75 per m2. What will be total cost?

38] Some friends went to a hill station for picnic in the month of May. Due to peak
season, they did not get a proper hotel in the city. The weather was fine so they
decided to make a conical tent at a park. They were carrying 300 m2 cloth with them.
As shown in the figure they made the tent with height 10 m and diameter 14 m. The
remaining cloth was used for the floor.

(i) Area of cloth used for the floor is:

(a) 31.6 m? (b) 16 m2
(c) 10 m2 (d) 20 m2
(i) The volume of the tent is:

(a) 300 m? (b) 160 m3
(c)513.3m3 (d) 500 ms
(iif)Area of the floor of the tent is:
(a) 50 mz (b) 100 mz
(c) 150 m2 (d) 154 m2

(iv) The total surface area of the tentis:
(a) 400 m2 (b) 422.4 m2 (c) 300 m2 (d) 625 m2
(v) For a conical tent of height h, base radius r and slant height /, we have:
@!l=h+b (b) 1?2 = h? + b?

(c) h? =12 + b? d)2+b%+ h%2=1
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Instructions:

i] The question paper comprises of four sections A, B, C and D. There are 36
guestions in the question paper. All questions are compulsory.

ii] Section A: Qns. 1 to 20, all questions and parts thereof are of type one mark
each. These questions contain multiple choice questions (MCQs), very short answer
type questions and assertion-reason type questions. Answers to these should be
given in one word or one sentence.

iii] Section B: Qns. 21 to 26 are short answer type questions, carrying 2 marks each.
Answers to these questions should be in the range of 30 to 50 words.

iv] Section C: Qns. 27 to 33 are short answer type questions, carrying 3 marks
each. Answers to these questions should in the range of 50 to 80 words.

v] Section D: Qns. 34 to 36 are long answer type questions carrying 5 marks each.
Answer to these questions should be in the range of 80 to 120 words.

vi] There is no overall choice. However, internal choices have been provided in some
guestion. A student has to attempt only one of the alternatives in such questions.

vii] Wherever necessary, neat and properly labelled diagrams should be drawn.

Section — A
1] Write the symbol of the anion and the cation that constitute magnesium oxide?
OR
Define atomic number.
2] Fill in the blanks:
i) -200 °C = K i) 200 K = °C
3] Name the particles which determine the mass of an atom.
4] Give an example where object is at rest and also in motion at the same time.
5] Name two types of food required for milch animals.
6] Name the physical quantity which is measured by rate of change of momentum.
OR
A ball is moving over a horizontal smooth surface with constant velocity. What types
of forces are acting on it?
7] At what place on the earth’s surface is the weight of a body minimum?
8] Give an example of echoes due to multiple reflections.
9] What is the work done against the gravity when a body is moved horizontally
along a frictionless surface?
OR
Find the energy in KWh consumed in 10 hours by a machine of power 500 W.
10] Identify a and b in the diagram given below.
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J Cytloplasm

11] Name two oxides formed by burning of fossil fuels, which are responsible for acid
rain.

12] What is the function of cell wall and plasma membrane?

13] Apis mellifera is adopted for domestication to produce honey. Mention any one
reason for it .

Assertion-Reason Type Questions (Q. Nos. 14-16)

In each of the following questions, a statement of Assertion is given by the
corresponding statement of Reason. Out of the given statements, choose the correct
one.

(a) Both Assertion and Reason are true and Reason is the correct explanation of the
Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(c) Assertion is true but Reason is false.

(d) Assertion is false but Reason is true.

(e) Both Assertion and Reason are false.

14] Assertion: Atom is electrically neutral

Reason: Equal number of protons and electrons are present in an atom.

15] Assertion : Carbon monoxide is less dangerous than carbon dioxide.

Reason : Carbon monoxide is a non-poisonous gas .

16] Assertion: Sound travels faster on a hot summer day than on a cold winter day.
Reason: In medium as temperature increases, the speed of sound increases.

17 - 20 contain five sub-parts each. You are expected to answer any four sub-
parts in these questions.

17] Tissue A - Repairs the injured tissues and fills spaces within organs .

Tissue B - Serves as a fat reservoir and also carries out the function of insulators .

i] Identify the animal tissues based on the given descriptions-

(a) Tissue A is adipose tissue, Tissue B is areolar tissue.

(b) Tissue A is areolar tissue, Tissue B is adipose tissue .

(c) Both are adipose. (d) Both are areolar . Page 2



il The location of above tissues in human body is :

TISSUE A TISSUE B

(a) | In the tongue only In bone marrow only

(b) | In muscles of thigh only Near shoulder joint only

(c) | In heart In nerve only

(d) | Between the skin and muscles, around Below the skin and between
blood vessels and nerves and in bone internal organ.
marrow.

iiil Muscles, which are immune to fatigue are

(a) unstriped muscles (b) cardiac muscles

(c) jaw muscles (d) skeleton muscles

iv] Which fibrous tissue connects bone with to each other?

(a) Connective tissue (b) Tendon

(c) Ligament (d) Adipose tissue

v] Identify the type of animal tissue from the following :

(a) Aerenchyma (b) Areolar tissue

(c) Chlorenchyma (d) Meristematic tissue

18] In a laboratory, while performing an experiment, carbon dioxide was taken in an
enclosed cylinder and compressed at low temperature.

i] What is the most common state in which carbon dioxide occurs at normal
temperature and pressure?

(a) Solid (b) Liquid (c) Gas (d) Both (a) and (b)
ii] In which state of matter carbon dioxide will be obtained at the completion of the
above process?

(a) Solid (b) Liquid (c) Gas (d) Both (a) and (b)
iii] Which process is responsible for conversion of solid to gas directly?

(a) Condensation (b) Sublimation (c) Diffusion (d) Fusion (Melting)
iv] The common name of the product obtained in the above process is

(a) Ice (b) Dry ice (c) Hot ice (d) Cold ice

v] If the external pressure is reduced in the above process, carbon dioxide can be
found as a

a) Solid b) Liquid c) Gas d) Both (a) and (b)

19] Archimedes’ principle is stated as follows: When a body is immersed fully or
partially in a fluid, it experiences an upward force that is equal to the weight of the
fluid displaced by it. The upward force is known as upthrust or buoyant force. In fact,
all objects experience a force of buoyancy when they are immersed in a fluid. The
magnitude of this buoyant force depends on the density of the fluid. Objects having
density less than that of the liquid in which they are immersed float on the surface of
the liquid. If the density of the object is more than the density of the liquid in which it
Page 3

is immersed then it sinks in the liquid. Hence, whether the body will float or sink
depends upon difference between density of body and fluid

i] The upthrust of the body is equal to the

(a) Mass of liquid (b) Weight of liquid

(c) Weight of liquid displaced by body (d) None of these

ii] If the density of the object is more than the density of the liquid in which it is
immersed then

(a) It sinks in liquid (b) It floats on liquid

(c) It comes out of liquid (d) None of these

iiil When any body is immersed in liquid it experiences a force called as

(a) Gravitational force (b) Buoyant force

(c) Frictional force (d) None of these

iv] Archimedes’ principle helps to calculate the buoyancy of any floating object that is
immersed in a fluid.

(a) only partially (b) only completely

(c) neither partially nor completely (d) both partially and completely

v] When the weight of the object is equal to the upthrust, then

(a) observed weight of the body will be zero

(b) observed weight of the body will not be zero

(c) the object will not float below the surface of water

(d) none of these

20] In the figure below the card is flicked with a push. It was observed that the card

moves ahead while coin falls in glass.

i] Give reason for the above observation:
(a) The coin possesses inertia of rest; it resists the change and hence falls in the
glass. Page 4



(b) The coin possesses inertia of motion; it resists the change and hence falls in the
glass.

(c) The coin possesses inertia of rest; it accepts the change and hence falls in the
glass.

(d) The coin possesses inertia of motion; it accepts the change and hence falls in the
glass.

il Name the law involved in this case.
(a) Newton’s first law of motion.

(c) Newton’s third law of motion.

(b) Newton’s second law of motion.
(d) Law of conservation of energy

ii] If the above coin is replaced by a heavy five-rupee coin, what will be your
observation?

(a) Heavy coin will possess more inertia so it will not fall in tumbler.

(b) Heavy coin will possess less inertia so it will fall in tumbler.

(c) Heavy coin will possess more inertia so it will fall in tumbler.

(d) Heavy coin will possess less inertia so it will not fall in tumbler.

iv] Inertia is a property of a body by virtue of which, it cannot change by itself

(a) its state of rest (b) its direction of motion

(c) its steady state of uniform motion (d) all of these

v] A body in motion will continue to move with uniform speed in a straight line
provided

(a) external force acts on it
(c) no external force acts on it

(b) internal force acts on it
(d) none of these
Section B
21] Write any two characteristics of collenchyma.
OR
List any two salient features of meristematic tissue?
22] Convert into mole
i]64g of Oxygen gas ii]22g of carbondioxide
23] Classify the following matter as pure substance or a mixture. If mixture, indicate
whether homogenous or heterogenous.
i] Brass ii] Air
OR
Give two reasons to support the statement that carbon dioxide is a compound and
not a mixture.
24] How do insect pests attack the plant and affect it?
25] The graph given below shows the positions of a body at different times.
Calculate the speed of the body as it moves from
JAtoB and iijBtoC [1+1]
Page 5
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7]

Distance (cm) =9
o]

S =

2 3 4 5 6 7 8 9
Time (s) =i

26] The given graph shows the displacement versus time relation for a disturbance
travelling with velocity of 1500 ms™.
Calculate the wavelength of the disturbance. (Given, 1us = 10%s)

>

I Tirme

| | |
(8] 1 2 3 4 5

(my)

Displacement

Time [in ps)—

Section C

27] ()Name the cell organelle which are known as :
a. Internal transport system cell
b. Suicidal bags of the cell
(i) Give difference between hypotonic solution and isotonic solution. [1+2]
28] Mention any three functions of Golgi bodies.
29] What are the new varieties obtained by cross breeding of Indian and exotic
breeds of poultry?
30] i) What is the relationship between two elements A and B whose atomic
numbers are 18 and 20, respectively, but their mass numbers remain the same as
40 ?
ii) Which has greater number of electrons: Na or Na*? Why?
i) If 12X?* and 19Y* represent two separate elements, what is the difference
(subtraction value) between the number of neutrons of X and that of Y? [1+1+1]
31]1i) In a reaction 4.6g of Barium chloride reacts with 3.4g of Sodium sulphate. The
products were 2.8 g of sodium chloride and 5.2 g of barium sulphate. The reaction
takes place as follows.
Barium chloride + Sodium sulphate — Sodium sulphate + Barium sulphate
Show that the above observation is in agreement with law of conservation of mass.
i) State the law of constant proportion. [2+1]

Page 6



32] i) How much solute (in gram) is required to dissolve in 100 g of solvent to
prepare a 10% (mass by mass percent) solution?
if) Complete the following table: [2+1]

Colloid Type Dispersed Phase Dispersion Medium

Foam Liquid

Solid Solid

33] il When is an object said to be in motion?
ii] An object starting from a point O travels a distance of 3 km towards west, then 4
km towards north and finally 9 km towards east to reach a final point E. Determine
(a) the total distance travelled and
(b) the displacement of the body. [1+2]

OR
A bullet of mass 10 g strikes a sand bag at a speed of 10°ms™* and gets embedded
after travelling 5 cm distance. Calculate
i] the resistive force exerted by the sand on the bullet.

ii] the time taken by the bullet to come to rest. [1.5+1.5]
Section D

34] (i) Complete the following cycle by labelling A-D and answer the given

guestions. [2]

litrogen in

Nitrification

At"msphéric and industrial ixa%®

(i) Breifly explain the ozone depletion. [3]
OR
Explain the biological nitrogen fixation process . [3]
Page 7

35] Answer the following questions: [2+2+1]
i) J. Chadwick discovered a subatomic particle that has no charge and has mass
nearly equal to that of a proton. Name the particle and give its location in the atom.

1
OR

If K and L shells of an atom are completely filled, find out:
a) The total number of electron in the atom b) its valency? 1
ii) Write the chemical formula and name of the compound formed between:
a) Copper(l) and nitrate ions b) Potassium and sulphide ions 2
iii) Write one conclusion of Rutherford alpha-particle experiment. 1
iv) Why did Rutherford choose gold as the material for targeting? 1

36] i] Derive an expression for kinetic energy of a body having mass m and moving
with a velocity v.

il Two masses m and 2m are dropped from heights h and 2h. On reaching the
ground, which body will have greater kinetic energy and why? [3+2]
OR
i] The acceleration due to gravity at three points A, B and C are 9.8 m/s?, 10

m/s? and 5 m/s? on the earth surface. Which of the following is true?
(a) B is at least distance out of three points from the centre of the earth.
(b) The weight of the object varies as

Ws >Wa >Wc
ii] The weight of an object is different at different places on the surface of the earth.
Why? State a place where an object has mass but no weight.
iii] Relative density of silver is 10.8. What is the density of silver in Sl unit?

[2+2+1]

Page 8
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Class 9 A Social Science Time :3 Hr F.M. :80

General Instructions:

i. Question paper comprises Six Sections — A, B, C, D, E and F. There are 37
guestions in the question paper. All questions are compulsory.

ii. Section A — From question 1 to 20 are MCQs of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions,
carrying 2 marks each. Answer to each question should not exceed 40 word

iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying
3 marks each. Answer to each question should not exceed 60 words

v. Section D — Question no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 word

vi. Section-E - Questions no from 34 to 36

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts,
37a from Geography (3 marks) and 37b from History (2 marks)

viii. There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
guestions have to be attempted.

iX. In addition to this, separate instructions are given with each section and
guestion, wherever are case based questions with three sub questions and are

of 4 marks each.

SECTION A

MCQS [1X20]
1. Between which longitudes does the mainland of India extends?
a)8°4’'Nand37°6' N b) 8° 4’ N and 37° 6’S
c) 68° 7’E and 97° 25'E d) 68° 7'N and 97° 25'N
2.Name the Himalayan range lying between Himadri and the Shiwaliks-
a) Kashmir Himalayas b) Nepal Himalayas
c)Kumaon Himalayas d) Himachal Himalayas
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3. Chambal and Betwa are tributaries of which river?
a) Narmada River b) Ganga River
¢) Yamuna River d) Brahmaputra River

4.Saline water is favourable for the growth of which natural vegetation?
a)Tropical Evergreen Forest b) Dry Deciduous Forest

¢) Mangrove Forest d) Montane Forest.

5.The number of people in different age groups is referred to as:

a) Population Composition b) Age composition

c)Birth rate d) Death rate
6.“The Social Contract” was written by :-
a) Louis XIV b) Rousseau

c) Robespierre d) Napoleon
7. The Bolshevik Party was renamed the :-
a) Asian Communist Party b) European Communist Party

¢) Russian Communist Party  d) None of these

8.Which of the Fundamental rights is called the ‘heart and soul of the Indian
Constitution?

a) Right against exploitation b) Right to freedom
¢) Right to Constitutional Remedies ¢) Cultural and educational rights
9.Who was the P.M of the interim government?

a) Somnath Labhiri b) Jawaharlal Nehru

d) Bhim Rao Ramji Ambedkar

10.‘Protect the self-respect of the Telugus’ was the slogan used by

¢) Sarojini Naidu

a) Left Front
¢) Indira Gandhi

b) N.T. Rama Rao

d) Janata Party

11.Traffic means

a) An order issued by a court asking a person to appear before it.

b) Demand for legal or moral entittements a person makes on fellow citizens

¢) Selling and buying of men, women or children for immoral purposes.

d) Promise made by individuals, groups or countries to uphold a rule or principle.
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12.Which of the following terms is not included in the Preamble to the Indian
constitution?

a) Equality b) Secular
C) Liberty d) Religion
13.No one can employ a child below the age of to work in any factory or
in any hazardous work.

a) 16 b) 18

c) 14 d) 12

14.Which of the following is the most vital factor of production?

a) land b) labour

¢) physical capital d) human capital

15. In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the correct option:
Assertion (A) After Green Revolution the same piece of land would now produce far
larger quantities of food grains than was possible earlier.

Reason (R) Compared to the traditional seeds, the HYV seeds promised to produce
much greater amounts of grain on a single plant.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A)

c) Assertion (A) is true but Reason (R) is false

d) Assertion (A) is false but Reason (R) is true

16. Which of the following states have experienced Green Revolution?

a) Uttar Pradesh and West Bengal b) Kerala and Punjab
¢) Haryana and Kerala d) Punjab and Haryana

17. Which of the following states have focussed more on human resource
development to reduce poverty?

a) Kerala b) Tamil Nadu

¢) Andhra Pradesh d) Odisha
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18. Which of the following statements match with the disguised
unemployment?

a) It happens when people are not able to find jobs during some months of the year.
b) The work requires the service of five people but engages eight people and
contribution made by the three extra people does not add to the contribution made
by the five people.

b) People dependent upon agriculture usually faces such kind of problem.

c) There are certain busy seasons when sowing, harvesting, weeding and threshing
is done, but certain months do not provide much work to the people dependant on
agriculture.

19. Which of the following ration card is for the poorest of poor?

a) Antyodaya b) BPL

c) APL d) none of these

20.The accepted average calorie requirement in rural India is

a) 2100 calorie b) 2400 calorie

¢) 2500 calorie d) 2800 calorie

SECTION B
VERY SHORT ANSWER QUESTIONS [2X4=8]
21.Mention any four characteristics of the monsoon rainfall in India. [2]
22.What is Rule of law? [2]
23.What do you mean by Concentration Camp? [2]
24.What are the two methods of voting? [2]
SECTION C

SHORT ANSWER BASED QUESTIONS [3X5=15]

25.Under what conditions, will a person be considered literate? Why literacy is

considered an important quality of a population? [1+2]
26.How did France became a Constitutional Monarchy? [3]
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27.Study the graph and answer the following questions. [3]

Graph 2.1: Literacy rates in India

a) What was the male literacy rate in the year 1991?

b) In which year India has the highest literacy rate?

¢) Why is literacy rate high among the males in India?

28.Explain the three evils which have been declared illegal under Right against

exploitation. [3]

29.Explain the difference between fixed capital and working capital with examples
(3]

SECTION D
LONG ANSWER BASED QUESTIONS [5X4=20]
30.What are the negative impacts of deforestation? What should we do to check
deforestation? [3+2]
OR
What is sex ratio? Which states of India have the highest and lowest sex ratios

according to 2011 Census? What could be the reasons for such variations in sex

ratios? [1+2+2]

31.How did Hitler rise to power? [5]
OR

How did the life of the pastoralists changed under colonial rule? [5]

32. What are the challenges to free and fair elections? Mention any five points.  [5]
OR Page 5

Define Rights. Explain any three Fundamental Rights. [2+3=5]

33.Why is buffer stock created? What is Public Distribution System? [2+3=5]

OR
What is issue price? What are the features of Public Distribution System? [1+4+5]
SECTION E
CASE BASED QUESTIONS [4X3=12]
34. Read the source given below and answer the following questions: [4]

A detailed account of the different physiographic units highlights the unique features
of each region. It would, however, be clear that each region complements the other
and makes the country richer in its natural resources. The mountains are the major
sources of water and forest wealth. The northern plains are the granaries of the
country. They provide the base for early civilisations. The plateau is a storehouse of
minerals, which has played a crucial role in the industrialisation of the country. The
Desert, Coastal region and Island groups provide sites for tourism, fishing and port
activities. Thus, the diverse physical features of the land have immense future
possibilities of development.

34.1] Which of the following are true with respect to the Indian Peninsular
plateau? [1]
I. The Deccan Plateau is an elevated table-land feature

I. It is the oldest physiographic division of India

lIl. It is also known as the Store house of minerals

IV. The rivers Narmada flows between the Vindhyan and the Satpura ranges.

Select the correct option from the given codes:

A. land Il B. I, Il and 1lI C. L1, Il and IV D. I, llland IV
34.2] Which one of the following is incorrect in context of the Northern Plains
of India? [1]

A. The Northern Plains is formed of alluvial soil

B. It spreads over an area of 7 lakh sq. km

C. The Northern Plains are the granaries of the country

D. Rich soil cover combined with adequate water supply and favourable climate it is
agriculturally not a productive part of India Page 6



34.3] Mention any two features of the Indian Desert. [2]
35.Read the source given below and answer the following questions: [4]
‘Nazi ideology was synonymous with Hitler's worldview. According to this there was
no equality between people, but only a racial hierarchy. In this view blond, blue-
eyed, Nordic German Aryans were at the top, while Jews were located at the lowest
rung. They came to be regarded as an anti-race, the arch-enemies of the Aryans. All
other coloured people were placed in between depending upon their external
features. Hitler’s racism borrowed from thinkers like Charles Darwin and Herbert
Spencer. Darwin was a natural scientist who tried to explain the creation of plants
and animals through the concept of evolution and natural selection. Herbert Spencer
later added the idea of survival of the fittest. According to this idea, only those
species survived on earth that could adapt themselves to changing climatic
conditions. We should bear in mind that Darwin never advocated human intervention

in what he thought was a purely natural process of selection.

35.1]Hitler’s ideas on racialism were based on which thinkers? [1]
35.2]Who were considered ‘Undesirable’ by Hitler.? [1]
35.3]Who was Charles Darwin? [1]
35.4]When did Nazism became a mass movement? [1]
36. Read the given extract and answer the following questions. [4]

The office memorandum was the culmination of a long chain of events. The
Government of India had appointed the Second Backward Classes Commission in
1979. It was headed by B.P .Mandal and it was popularly called the Mandal
Commission .It was asked to determine the criteria to identify the socially and
educationally backward classes in India and recommend steps to be taken for their
advancement .The Commission gave its report in 1980 and made many
recommendations. One of these was that 27 per cent of government jobs be
reserved for the socially and educationally backward classes. The report and
recommendations were discussed in the parliament.

For several years, many parliamentarians and parties kept demanding the
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implementation of the commission’s recommendations. Then came the Lok Sabha
elections of 1989.1n its election manifesto, the Janata Dal promised that if voted
topower, it would implement the Mandal Commission report the Janata Dal did form
the government after the election. Its leader V.P Singh became the Prime Minister.

36.1] What is Office Memorandum? [1]

36.2] What did they demand for several years? [1]

36.3] Mention any one recommendation made by the commission? [1]

36.4] What is Mandal Commission? [1]
SECTION F

MAP SKILL BASED QUESTIONS [3+2=5]
37.0n the Physical map of India locate, highlight and label the following
physical features: [Any three] [3]
a) Vindhyan Range
b) Western Ghats
c)Chotanagpur Plateau
d) Narmada River
e) Godavari River
38.Two places A and B have been marked on the given outline map of the world.[2]
Identify then and write their correct names on the lines drawn near them
A. The place where the slave trade began in the seventeenth century.
B. The central power of the First World War.
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Modi Public School, Siliguri
Annual Examination 2022-23
Class 9B English Language & Literature Time:3 Hr F.M.:80

GENERAL INSTRUCTIONS

The Question Paper is divided into THREE sections- READING SKILLS,
GRAMMAR & CREATIVE WRITING, and LITERATURE.

SECTION-A READING SKILLS [20 marks]
I] Read the passage and answer the questions that follow. [10x1=10]

1] The North-East of India is a melting pot of variegated cultural mosaic of people
and races, an ethnic tapestry of many hues and shades. Yet these states are lesser
explored as compared to the rest of the country. The new generations of travellers
who are ‘money rich’ and time poor are increasingly looking for unique experiences-
a phenomenon being called the emergence of the “experience economy.” For this
new and growing breed of tourists, the North-East with its variety and uniqueness
holds immense attraction.

2] A study conducted in 2020 by Dr. Sherpa Bhutia, revealed that the foreign tourist
arrival in the North-East increased from 37,380 persons in 2005 to 118,552 in 2014.
The overall growth rate of tourist [ both domestic and foreign] in the North-East was
as high as 26.44% during 2005-06. A high and positive growth of 12.53% was
registered in foreign tourist visits to North-East states of India during 2012 from
2011, which further rose to register a growth of 27.93% during 2013 from 2012.
Foreign tourist arrivals in the North-East witnessed a growth of 39.77% during 2014
from 2013, according to data provided from the Ministry of Tourism, Government of
India.

3] The study recommendations for tourism planners included the need to
concentrate on some key areas like enhancement of tourist facilities , tourism
financing, focus on community involvement and others for the formulation of a
sustainable tourism strategy in the North-East states of India.

1] Infer one reason for the following, based on information in para 1.
The rate of tourism in the North-East of India puzzles tourism officials.

2] From paragraph 1, we can infer that the and of the
NorthEastern states aid in attracting the 'money rich and time poor' tourists.

[] distinctiveness ii] conventionality iii] diversity

iv] uniformity v] modernity

3] Complete the following analogy correctly with aword/ phrase from
paragraph 1: 1

aroma: cooking :: . painting Page 1

4] Select the correct option to complete the following sentence:

Travelers advocating the '‘experience economy' seek a holiday package
with (Paragraph 1)

a] grand facilities, expensive hotels, and excellent services to pamper them.

B] a wholesome experience within the budget they have planned for

c] places and cities to buy things from and opportunities spend money

d] cost-effective services, affordable accommodation, and many days of touring

5] Select the chart that appropriately represents the trend of foreign tourist
travelsin the North-East, from 2011-2014, as per paragraph 2.

Choose any of the Four Options- 1, 2, 3, 4.

l/ =

@

6] Fill in the blanks by selecting the correct option.

The study of tourist travel statistics in the North-East, from 2005 to 2014

showed results.
a] expected b] encouraging c] inconsistent d] questionable

7] Substitute the word 'witnessed' with ONE WORD similar in meaning, in
thefollowing, sentence from paragraph 2:

Foreign tourist arrivals in the North-East withessed a growth of...
8] List any 2 examples of 'tourist facilities' as referred to, in Paragraph 3.

9] List one reason why the researchers recommend that the formulation of a
tourismstrategy in the North-Eastern States of India be sustainable.

10] Select the option that titles paragraphs 1-3 appropriately, with reference to
information in the text.

1 Full Speed Ahead 1] Winds of Change 1] Cause and Effect
2] Ups and Downs 2] Numbers Don't Lie 2] Dynamic Data
3] Cause for Concern 3] Time for Action 3] Dependable Facts
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[Option a] [Option b] [Option c]

1] Inspecting Trends 2] Statistically Speaking 3] Lets Investigate

[Option d]

Il] Read the passage and answer the questions that follow. [10x1=10]

1] During our growing up years, we as children have been taught- both at home and
school-to worship the photos and idols of the Gods of our respective religions. When
we grew a little older, we were told to read holy books like the Bhagwad Gita, the
Bible, and the Quran; we were told that there are a lot of life lessons to be learned
from these holy books. We were then introduced to stories from our mythologies
which taught us about ethics and morality- what is good and what is bad. | also
learnt to be respectful towards my parents who made my life comfortable with their
hard work and love and care, and my teachers who guided me to become a good
student and a responsible citizen.

2] Much later in life, | realised that though we learn much from our holy books, there
is a lot to learn from our surroundings. This realisation dawned upon me when |
learnt to enquire and explore. Everything around us- the sun, the moon, stars, rain,
rivers, stones, rocks, birds, plants and animals- teach us many valuable life lessons.

3] No wonder that besides the scriptures in many cultures, nature is also
worshipped. The message that we get is to save our environment and maintain
ecological balance. People are taught to live in harmony with nature and recognise
that there is God in all aspects of nature.

4] Nature is a great teacher. A river never stops flowing. If it finds an obstacle in its
way in the form of heavy rock, the river water fights to remove it from its path or finds
an alternative path to move ahead. This teaches us to be progressive in life, and
keep the fighting spirit alive.

5] Snakes are worshipped as they eat insects in the field that can hurt our crops,
thus protecting the grains for us. In fact, whatever we worship is our helper and
makes our lives easy for us. There are many such examples in nature, but we are
not ready to learn a lesson. Overcome with greed, we are destroying nature. As a
result, we face natural disasters like drought, flood, and landslides. We do not know
that nature is angry with us.

However, it is never too late to learn. If we learn to respect nature, the quality of our
life will improve.

1] Why does the writer say that we should 'respect' our parents and teachers?
a] Parents have made our life comfortable with love and care.

b] Teachers have guided us in becoming a good student.

c] Teachers have guided us in becoming a responsible citizen.

d] All of these Page 3

2] Select the option that corresponds to the following relation below:
The Bhagwad Gita: Holy Book :: The Moon :

3] Complete the following [OPINION] with a phrase from paragraph 3.

OPINION REASON

? Respect all life around us

4] The writer says," A river never stops flowing. If it finds an obstacle in its
way, it finds an alternative path to move ahead." What do you learn from
nature? Select the correct option.

a] to be progressive in life b] to face obstacles

c] to never give up d] to face the challenges

5] Supply 1 point to justify the following: [Paragraph 1]

When we grew a little older, we were told to read holy books like the Bhagwad Gita,
the Bible and the Quran; we were told that there are a lot of life lessons to be learnt
from these holy books.

6] Evaluate the APPROPRIATE option that lists what will happen when we
learn to respect nature.

a] The quality of our life will improve. b] We will become more confident.

c] We will learn many valuable life lessons. d] We will become a good citizen.

7] Based on your reading of the text, list any one reason why the writer says
that : "Snakes are worshipped." [Paragraph 5]

8] What message do we get when we worship nature?

9] The writer says," We were then introduced to stories from our
mythologies."[Paragraph 1]

The stories from our mythologies taught us about:

a] ethics and morality b] religious

c] quality of our life d] holy books

10] Select the option that tells what we are taught in our childhood and
growing upyears.

a] to worship the photos and idols b] to beprogressive in life

b] to read holy books d] both a] and b]
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SECTION B- GRAMMAR and CREATIVE WRITING [20 marks]
[lI] Complete the following passage with appropriate form of verbs. [4x1=4]

I (a) (run) for a bus when 1 (b) (hit) my foot on something on the
pavement and (c) (fall) over. I tried to get up but could not (d) (move). |
had terrible pain in my left foot.

IV] Complete the following passage using the appropriate modals. [4x1=4]

If you (@) some assistance organizing your desk, your cupboard, and your
room, Tidy Teens (b) help. This student-run group raises money for charity
by cleaning up. “We didn’t realize it when we started, but we (c) thought of a
better way to raise money”, says 17-year-old Brian Mason, who helped establish the
group. We (d)___ support such groups.

V] Read the dialogues and complete the report. [2x1=2]
“Mansi: Do you know who will be presiding over our annual function?

Priya: | was told an eminent poet has been invited.

Mansi: Are you talking about the Indian poet, Anuradha Bhattacharya?

Priya: Yes.”

Q] Mansi asked Priya . Priyareplied that

VI] During the summer vacation, you (Piya / Pratham) and your friend enrolled in
“The School for Flying”. While training, you had an interesting and unforgettable
experience. Share your experience in the form of a diary entry in 150-200 words,
expressing what you have learned till now. You can use the hints given below.

(5]

» Aviation adventure; fun and knowledge

» Imparts flying instructions with advanced planes and modern
technology like GPS

» Practical experience in challenging weather

» Develops good judgement, decision-making, and proficiency skills

VII] You recently participated in your school’'s “Robot Making” event. Participants
from as many as 30 schools in the city took part in the event. Write about the event
in 150-200 words describing how many robots were made and who was

awarded the first prize etc. [5]
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SECTION-C LITERATURE [40 marks]

-~ }"{“ '

VIII] Read the given extracts carefully and answer ANY ONE of the following
questions below. [5x1=5]

A] “The McDonald’s lived next door. They had five children. Looking through a
gap in the fence, the little girl saw them playing “tag” in the evening. The
father with the baby, Mao, on the shoulders, two little girls hanging on his coat
pockets ran around the flower-beds, shaking with laughter. Once she saw the
boys turn the pose on him and he tried to catch them laughing all the time.
Then it was she decided there were different sorts of fathers.”

i] How are the relations of the little girl with her father?

a] affectionate b] attentive c] fearful d] dislike

ii] What sort of difference did the little girl notice after watching Mc Donalds
with the children?

a] kindness b] fun-loving c] communicative d] weird

iii] Choose the option that lists the set of statements that are NOT TRUE
according to the given extract.

1] Little girl was afraid of her father.

2] Little girl didn’t want to stay with her father.

3] Little girl always admired her father for his good behaviour.

4] Little girl wanted her father to be like Mr. McDonald.

5] Her father was a fun-loving person.

6] Both father and daughter had a strong bond as they share everything.

a] 2,3,4 b] 1,2,4 ¢]3,5.6 d] 4,5,6
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iv]Pick the option that correctly classifies Fact/s (F) and opinion/s (O) of the
students below.

1] I think the little 2] I think the little girl’s
girl accepted that her father was stressed with

father will not be like his work
McDonalds

4] I think Kezia should put
more efforts towards her
relationship with her

3] I think no matter
what he should spend
time with Kezia father

a] F-1, 2and O- 3,4 b] F-2,3,4and O- 1

c] F-2 and O-1,3,4 d] All are opinions

v] Which phrase is incorrect with regard to “hanging”?

a] hanging time b] hanging coat c] hanging chair  d] hanging lights

B] “A slumber did my spirit seal —

I had no human fears.

She seemed a thing that could not feel
The touch of earthly years.”

i] Whose slumber is referred to here?
a] poet’'s mother

c] poet’s beloved

ii] In the given lines, the poet is:

a] wondering b] regretting

b] poet’s wife
d] poet himself

c] grieving d] can’t say
iii] The phrase “l had no human fears” indicates that:

a] the poet was courageous b] the poet could not believe in something
c] the poet was fearless d] the poet had taken his beloved for granted

iv] What is the rhyming scheme of the poem?

a] abcd b] aabb c] abab d] free verse
v] The phrase “the touch of earthly years” mean:

a] active and living
c] the touch of beauty of the earth

b] life on earth
d] none of the above
Page 7

IX] Read the given extracts carefully and answer ANY ONE of the following
questions below. [5x1=5]
A] “The two men were hungry. Now that the shops were open, they went to
buy some groceries. To their astonishment, they found that everything cost
the same, a single duddu- whether they bought a measure of rice or bunch of
bananas, it cost a duddu. The guru and his disciple were delighted. They had
never heard of anything like this. They could buy all the food they wanted for a
rupee.”

i] Why the Guru and his disciple were delighted?
a] As everything cost the same

b] They were amazed by the actions of the people

c] They were overjoyed by the beauty of the kingdom
d] None of the above

ii] Choose the options that lists the statements that are NOT TRUE according
to the given extract.

1] The guru and his disciple were hungry.

2] The guru and his disciple found the kingdom strange.

3] The disciple wanted to leave the kingdom.

4] The guru had recognized the Kingdom of Fools.

5] The guru wanted to have cheap food and decided to settle in the kingdom itself.
6] The king and the minister of the kingdom were wise people.

al1,2,3 b] 2,3,6 c] 3,5,6 d] 4,5,6
iii] Which word does ‘astonishment’ NOT correspond to?

al amazement b] composure c] confusion d] shock
iv] Why were the shops closed in the kingdom before?

a] everyone was asleep during the daytime

b] there was a rule that businesses will be run after dark

c¢] nobody wants to work in daytime

d] both a] and b]
Page 8



v] Pick the options that correctly classifies fact/s (F) and opinion/s (O) of the
students below.

2] I think people of
the kingdom were
smart working for a
lesser time

1] I think Guru
and disciple
were wiser

4] I think the guru
wanted to leave the
town as soon as
possible.

3] I think people
were cowards to go
against the king

a] F-1,2and O- 3,4 b] F-2,3,4and O- 1

c] F-2,4 and O-1,3 d] F-3,4 and 0-1,2

B] “ ‘We must really issue a proclamation that birds are not allowed to die
here.” And the town clerk made a note of the suggestion. So, they pulled down
the statue of the Happy Prince. ‘As he is no longer beautiful, he is no longer
useful ,” said the Art Professor at the University.

i] Who spoke the words in the first line of the above extract?

a] town councillors b] mayor
c] people of the city d] town clerk
ii] Who pulled down the statue of Happy Prince and why?

a] people of the city pulled it down as it looked shabby

b] people of the construction company pulled it down to renovate it

c] theatre people pulled it down accidentally

d] the town authorities pulled it down due to the order given by mayor

iii] The phrase “pulled down” means:

a] to remove
c] to destroy

b] to modify
d] to push it aside
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iv] The statement that is TRUE about the statue is:

a] it was no longer beautiful b] it was no longer useful
c] it was admired for the king’s sacrifice d] both a] and b]

v] Which of the following expressions is incorrect with respect to the word
“proclamation’?

a] announcement b] declaration
c] augmentation d] statement

X] Answer ANY THREE of the following questions in 30-40 words. [3x3=9]
a] Maria’s father played an important role in her success. How?

b] The little woman’s refusal to part with the cake is a mirror of her character. How?
c] Explain the usage of : “anchoring earth” .

d] Describe the room in which the homeopath doctor lived.

XI] Answer ANY THREE the following questions in 30-40 words. [3x3=9]
a] What was the condition of the child when he lost his parents?

b] Describe the things Sue did to make Johnsy interested.

c] Did Toto enjoy taking a bath?

d] What made Iswaran so imaginative and a good narrator?

XIl] Answer ANY ONE of the following in 100-120 words. [6x1=6]

a] The poet presents an idyllic picture of the lake Isle of Innisfree as compared to
the dull-grey life of the city. Justify using illustrations from the poem.

b] “The nine-year-old girl had already learned an important lesson in life that tennis
excellence would come only at a price.” Do you agree with the "lesson” that the girl
learned? What do you think motivated her to pay the price?

XIl] Answer ANY ONE of the following in 100-120 words. [6x1=6]

a] “Behrman’s visit to Sue’s flat was a blessing in disguise for Johnsy.” Justify the
above statement.

b] “The statue of the Happy Prince and the name given to him is ironical.” Elaborate
all the ironies in the lesson “The Happy Prince.”
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General Instructions:

1. This Question Paper has 5 Sections A,B, C, D and E.

2. Section A has 20 Multiple Choice Questions (MCQs) carrying Imark each.
3. Section B has 5 Short Answer (SA-I) type questions carrying 2 marks each.
4. Section C has 6 Short Answer (SA-Il) type questions carrying 3 marks each.
5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each.

6. Section E has 3 Case Based integrated units of assessment (4 marks each)
with sub-parts of the values of 1,1 and 2 marks each respectively.

7. All Questions are compulsory .An internal choice has been provided

in the 2marks questions of Section E.

8. Draw neat figures wherever required. Take 1 =22/7 wherever required if not
stated.

Section A [1x20=20]
1] A rational number between 17 and ; is
1 2 5 5

2] Degree of a constant polynomial is
ajo b] 1 c] any natural number d] not defined

3] The value of 3007 - 2992 is
a] 499 b] 12 c] 600 d] 599

4] If one third of an angle is equal to its supplement then the measure of the angle is

a] 135° b] 125° c] 110° d] 105°

5] If the diagonal of a quadrilateral bisects one another at right angles then the
guadrilateral is a
a] Rectangle  b] Trapezium  c¢] Rhombus d] Cyclic quadrilateral

6] The base of a right triangle is 8 cm and hypotenuse is 10 cm.Its area will be
a] 8 cm? b] 16 cm? c] 24cm? d] 30 cm?

7] The total surface area of a cone whose radius is g and slant height 21 is
al2nr(l+7r) blor(+ E) cler (I+71) d] 2mrl

8] The perpendicular distance of the point P( 4, 3) from the X — axis is
al4 b] 3 c]5 d] None of these

9] The sum of the probabilities of all events of a trial is
all b] greaterthan 1 c]lessthan1 d] between 0 and 1

10] The range of the data 11, 20,25,81,20,22,16,6,17,15,12,30,32,10,91,8 is
a] 10 b] 75 c] 85 d] 26

11] The area of a rhombus if the diagonals are 16 cm and 24 cm is
a] 180 cm? b] 184 cm? c] 198cm? d] 192 cm?

12] Rationalizing factor of 2 + /3 is
a]2—+3 b] V3 c]2 +3 d3 ++3

13] Which of the following is not a criterion for congruence of triangles?
a] SAS b] ASA c] SSA d] SSS

14] Degree of the polynomial 3x - 1 is

alo b] 1 c]2 d] None of the above

15] If i +§ = -1 (x,y # 0) then find the value of x3 — y3
a1 b] -1 cl; d] 0

16] Any point of the form (a, —a) always lies on the graph of the equation
alx=-—a bly=a cly=x dx+y=0

171 In A ABC, 2C = 2A and BC = 4cm and AC = 5cm then find the length of AB
al 5em b] 3cm c] 4cm d] 2.5cm

18] In the given figure if LZOAB = 40° then find LACB N
a] 50° b] 30° c] 40° d] 100°




In questions 19 and 20, a statement of Assertion (A) is followed by a statement of
Reason(R).Choose the correct option.

(a) Both A and reason R are true and reason R is the correct

explanation of assertion A.

(b) Both assertion A and reason R are true and reason R is not the

correct explanation of assertion A.

(c) Ais true but reason R is false.

(d) A is false but reason R is true.

19] Assertion (A): 2 +/3 is a rational number.
Reason (R): Sum of a rational and an irrational number is an irrational
number.

20] Assertion (A): Two adjacent angles of a parallelogram are in the ratio
2: 3. Then adjacent angles are 72°and 108°.
Reason (R): Sum of adjacent angles of a parallelogram is 180°.

Section B [2X5=10]
21] Simplify: (x +1)3 — (x —1)3

22] Find the value of k if x — 1 is a factor of p(x) = kx? —3x + k
23] Find the value of {xa*b}a=b [xb+cyb—c {yc+ajc—a

24] In AABC, AB =5cm,BC = 8cmand CA = 7 cm. If D and E are respectively the
mid-points of AB and , determine the length of DE.

25] The angles of a quadrilateral are in the ratio 3: 5: 9: 13. Find all the angles and
the name greatest angle of the quadrilateral.

Section C [3X6=18]
26] If the polynomial p(x) = x® + 15x? + 9x — a is divided by (x+4) it leaves a
remainder 10. Find the value of ‘a’.

27] A recent survey found that the ages of worker in a factory is distributed as
follows:

Age in 20-29 30-39 40-49 50-59 60 and
Years above
No of 38 27 86 46 3
Workers

If a person is selected at random find the probability that the person is
i] 40 years and above il Under 40 years iii] Age 30 to 39 years.

28] Volume of a right circular cone is ziﬂ cm?® and its diameter is 10 cm. Find the

slant height. Also find the curved surface area of cone in terms of 1.
29] The radius of a circle is 29 mm and 0Y is the perpendicular from the centre to

the chord MN meeting at X. Find the length of XY if the length of the chord MN is 42
mm.

30] fp(x) = x%2 —4x + 3, evaluate: p(2) —p (—1) +p (%)

31] Find the value of a and b

7+V5 7_\/§=a+l\/§b
7-v5 7445 1
Section D [4x5=20]
32] A random survey of the number of . Number of
children of various age groups playing in Age (in year) Children
a park was found as follows. 1-2 5
2-3 3
Draw a histogram to represent the data 3-5 6
above. 5-7 12
7-10 9
10-15 10

33] A circular park of radius 30m is situated in a colony. Three boys Ankur , Salim
and Deep are sitting at equal distance on its boundary each having a toy telephone
in his hands to talk to each other . Find the length of the string of each phone.

34] ABC is a triangle in which altitudes BE and CF to the sides AC and AB are equal
such that they intersect at point P inside the triangle. Show that

a] AABE = AACF

b] AB = AC, i.e. ABC is an isosceles triangle.

Cc] ABFP = ACEP

35] If 42¥-1 _ 16(x-D= 384 , then find the value of x.



Section E [3X4=12]
36] Teachers and students of class IX of a school had gone to Nandan Kannan for
study tour. After visiting different places of Nandan Kannan, lastly, they visited bird's
sanctuary and deer park. Rohan is a clever boy and keen observer. He put the
question to his friends,"” How many birds are there and how many deer are there (at
particular time) in Nandan Kannan?" Rahul's friend, Nishith gave the correct answer
as follows:
"Nishith answered that total animals have 1000 eyes and 1400 legs."
Based on the above information,if x and y be the number of birds and deer
respectively, answer the following questions:

a]What is the equation of total number of eyes?
b] What is the equation of total number of legs?
¢] How many birds are there in the Zoo?

OR
How many deer are there in the Zoo?

37] Taj Mahal is an example of astonishing symmetries and proportions.
Examine the highlighted part of the sketch of its front elevation plan

and use the properties of quadrilateral to answer the following questions
based on the following information :

"ABC is atriangle. D, E and F are the mid points of sides AB,BC and

CA respectively."

o
m
(@]

a]Which type of quadrilateral is DBEF? Give reason.

b] State the mid-point theorem in context to the given AABC.
c] Prove that ADBE = ADFE.

OR

Justify that AABC is divided into 4 congruent triangles.

38] Once four friends Rahul, Arun, Ajay and Vijay went for a picnic at a hill station.
Due to peak season, they did not get a proper hotel in the city.The weather was fine
so they decided to make a conical tent at a park. They were carrying 300 m? cloth
with them. As shown in the figure they made the tent with height 10 m and diameter
14 m. The remaining cloth was used for the floor.

Based on the given information answer the following questions:
a]What is the volume of the tent?
b]What is the slant height?
c]How much cloth was used for the floor?
OR
What is the total surface area of the tent?
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Instructions:

i] The question paper comprises of four sections A, B, C and D. There are 36
questions in the question paper. All questions are compulsory.

ii] Section A: Qns. 1 to 20, all questions and parts thereof are of type one mark
each. These questions contain multiple choice questions (MCQs), very short answer
type questions and assertion-reason type questions. Answers to these should be
given in one word or one sentence.

iii] Section B: Qns. 21 to 26 are short answer type questions, carrying 2 marks each.
Answers to these questions should be in the range of 30 to 50 words.

iv] Section C: Qns. 27 to 33 are short answer type questions, carrying 3 marks
each. Answers to these questions should in the range of 50 to 80 words.

v] Section D: Qns. 34 to 36 are long answer type questions carrying 5 marks each.
Answer to these questions should be in the range of 80 to 120 words.

vi] There is no overall choice. However, internal choices have been provided in some
question. A student has to attempt only one of the alternatives in such questions.

vii] Wherever necessary, neat and properly labelled diagrams should be drawn.

Section — A
1] Name the anion and the cation that constitute magnesium oxide?
OR
Define atomic number.
2] Fill in the blanks:
i)-200°C=___ K ii)200K=___ °C
3] Name the particles which determine the mass of an atom.
4] Give an example where object is at rest and also in motion at the same time.
5] Name two types of food required for milch animals.
6] Name the physical quantity which is measured by rate of change of momentum.
OR
A ball is moving over a horizontal smooth surface with constant velocity. What types
of forces are acting on it?
7] At what place on the earth is the weight of a body minimum?
8] What are mechanical waves? Page 1



9] What is the work done against the gravity when a body is moved horizontally
along a frictionless surface?

OR
Find the energy in KWh consumed in 10 hours by a machine of power 500 W.

10] Identify a and b in the diagram given below.
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11] Name two oxides formed by burning of fossil fuels, which are responsible for acid
rain.
12] What is the function of cell wall and plasma membrane?
13] How does broilers differ from layers?
Assertion-Reason Type Questions (Q. Nos. 14-16)
In each of the following questions, a statement of Assertion is given by the
corresponding statement of Reason. Out of the given statements, choose the correct
one.
(a) Both Assertion and Reason are true and Reason is the correct explanation of the
Assertion.
(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.
(c) Assertion is true but Reason is false.
(d) Assertion is false but Reason is true.
(e) Both Assertion and Reason are false.
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14] Assertion: Atom is electrically neutral.
Reason: Equal number of protons and electrons are present in an atom.

15] Assertion : Carbon monoxide is less dangerous than carbon dioxide.

Reason : Carbon monoxide is a non-poisonous gas .

16] Assertion: During wave motion, there is a net transport of material medium and
energy.

Reason: Particles may or may not vibrate in the direction of motion of wave.

17 - 20 contain five sub-parts each. You are expected to answer any four sub-
parts in these questions.

17] Read the following and answer any four questions below from (i) to (v):

Bone is a solid, hard porous tissue. It forms the natural skeleton and gives the body
its basic structure and also supports the body. Its matrix is impregnated with
phosphates and carbonates of calcium and magnesium which provides hardness to
it. The matrix also contains ossein protein. The matrix is arranged in concentric rings
which are called lamellae. Bone cells lie between the lamellae in fluid-filled spaces
called lacunae.

(i) Bone cells are also called :

(a) Lacunae (b) Osteocytes (c) Neutrophils (d) Erythrocytes
(i) The matrix inside the bone is arranged in concentric rings called:

(b) Osteocyte
(i) To form natural skeleton and to give support to the body is the main function of :
(a) Cells (b) Muscles (c) Bones

(iv) The matrix of bone is impregnated with:

(a) Cytoplasm (c) Lacunae (d) Lamellae

(d) Ligaments

(a) Carbon dioxide and oxygen

(b) Carbon dioxide and water

(c) Sulphates of sodium

(d) Phosphates and carbonates of calcium and magnesium

(v) Bone cells lie between the lamellae in fluid-filled spaces called :
(a) Lamina (b) Osteocytes (c) Lacunae (d) Ossein

18] In a laboratory, while performing an experiment, carbon dioxide was taken in an
enclosed cylinder and compressed at low temperature.
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i] What is the most common state in which carbon dioxide occurs at normal
temperature and pressure?

(a) Solid (b) Liquid (c) Gas (d) Both (a) and (b)
iif] In which state of matter carbon dioxide will be obtained at the completion of the
above process?

(a) Solid (b) Liquid (c) Gas (d) Both (a) and (b)
iii] Which process is responsible for conversion of solid to gas directly?

(b) Sublimation (c) Diffusion (d) Fusion (Melting)

iv] The common name of the product obtained in the above process is

(a) Condensation

(a) Ice (b) Dry ice (c) Hot ice (d) Cold ice
v] If the external pressure is reduced in the above process, carbon dioxide can be
found as a

a) Solid b) Liquid c) Gas d) Both (a) and (b)

19] Archimedes’ principle is stated as follows: When a body is immersed fully or
partially in a fluid, it experiences an upward force that is equal to the weight of the
fluid displaced by it. The upward force is known as up thrust or buoyant force. In fact,
all objects experience a force of buoyancy when they are immersed in a fluid. The
magnitude of this buoyant force depends on the density of the fluid. Objects having
density less than that of the liquid in which they are immersed float on the surface of
the liquid. If the density of the object is more than the density of the liquid in which it
is immersed then it sinks in the liquid. Hence, whether the body will float or sink
depends upon difference between density of body and fluid.

i] The upthrust of the body is equal to the

(b) Weight of liquid

(c) Weight of liquid displaced by body (d) None of these

(a) Mass of liquid

ii] If the density of the object is more than the density of the liquid in which it is
immersed then

(@) It sinks in liquid (b) It floats on liquid
(c) It comes out of liquid (d) None of these

iiil When any body immersed in liquid it experience a force called as
(a) Gravitational force (b) Buoyant force

(c) Frictional force (d) None of these Page 4

iv] Archimedes’ principle helps to calculate the buoyancy of any floating object that is
__ immersed in a fluid.
(a) only partially (b) only completely
(c) neither partially nor completely (d) both partially and completely

v] When the weight of the object is equal to the upthrust, then

(a) observed weight of the body will be zero

(b) observed weight of the body will not be zero

(c) the object will not float below the surface of water

(d) none of these

20] In the figure below the card is flicked with a push. It was observed that the card

moves ahead while coin falls in glass.

i] Give reason for the above observation:

(a) The coin possesses inertia of rest; it resists the change and hence falls in the
glass.

(b) The coin possesses inertia of motion; it resists the change and hence falls in the
glass.

(c) The coin possesses inertia of rest; it accepts the change and hence falls in the
glass.

(d) The coin possesses inertia of motion; it accepts the change and hence falls in the
glass.

il Name the law involved in this case.
(a) Newton’s first law of motion. (b) Newton’s second law of maotion.
(c) Newton'’s third law of motion. (d) Law of conservation of energy

Page 5



iii] If the above coin is replaced by a heavy five-rupee coin, what will be your
observation?

(a) Heavy coin will possess more inertia so it will not fall in tumbler.

(b) Heavy coin will possess less inertia so it will fall in tumbler.

(c) Heavy coin will possess more inertia so it will fall in tumbler.

(d) Heavy coin will possess less inertia so it will not fall in tumbler.

iv] Inertia is a property of a body by virtue of which, it cannot change by itself

(a) its state of rest (b) its direction of motion
(d) all of these

v] A body in motion will continue to move with uniform speed in a straight line

(c) its steady state of uniform motion

provided
(a) external force acts on it (b) internal force acts on it
(c) no external force acts on it (d) none of these
Section B
21] Write any two characteristics of collenchyma.
OR
List any two salient features of meristematic tissue?
22] Convert the following amounts (of the substances mentioned) into number of
moles:
i] 12 g of oxygen gas ii] 22 g of carbon dioxide
23] Classify the following matter as pure substance or a mixture. If mixture, indicate
whether homogenous or heterogenous.
i] Silicon ii] Uranium
OR
Give two reasons to support the statement that carbon dioxide is a compound and
not a mixture.
24] How do insect pests attack the plant and affect it?
25] The graph given below shows the positions of a body at different times.
Calculate the speed of the body as it moves from

i]AtoB and ii]BtoC [1+1]
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26] The given graph shows the displacement versus time relation for a disturbance
travelling with velocity of 1500 ms™.

Calculate the wavelength of the disturbance. (Given, 1us = 10%s)
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Section C
27] ()Name the cell organelle which are known as :
a. Internal transport system cell
b. Suicidal bags of the cell
(i) Give two differences between hypotonic solution and isotonic solution.
[1+2]
28] Mention any three functions of Golgi bodies.
29] What are the new varieties of characters obtained by cross breeding of Indian
and exotic breeds of poultry?
30] i) If the element X has three isotopes, 200%X3%, 200X and 200X*%° with relative
abundance 40%, 40% and 20%, respectively, find out the atomic mass of X.
i) If z2XAt and 2z YA? represent two separate elements, what is the difference
(subtraction value) between the number of neutrons of X and that of Y? [2+1]
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31] i) In a reaction 4.6g of Barium chloride reacts with 3.4g of Sodium sulphate. The
products were 2.8 g of sodium chloride and 5.2 g of barium sulphate. The reaction
takes place as follows.

Barium chloride + Sodium sulphate — Sodium sulphate + Barium sulphate

Show that the above observation is in agreement with law of conservation of mass.
li) State the law of constant proportion. [2+1]

32] i) How much solute (in gram) is required to dissolve in 100 g of solvent to

prepare a 10% (mass by mass percent) solution?

i) Complete the following table: [2+1]
Colloid Type Dispersed Phase Dispersion Medium
Foam Liquid
Solid Solid

33] il When is an object said to be in motion?
ii] An object starting from a point O travels a distance of 3 km towards west, then 4
km towards north and finally 9 km towards east to reach a final point E. Determine
(a) the total distance travelled and
(b) the displacement of the body. [1+2]

OR
A bullet of mass 10 g strikes a sand bag at a speed of 103 ms*and gets embedded
after travelling 5 cm distance. Calculate
i] the resistive force exerted by the sand on the bullet.
ii] the time taken by the bullet to come to rest. [1.5+1.5]

Section D

34] (i) What is atmospheric fixation of nitrogen?
(i) What is green house effect? How does it influence global warming.  [1+2+2]

OR
How soil is formed? How living organisms dependant on it? Are living organisms
living in water totally independant of soil as resources? [1+2+2]

35] Answer the following questions: [2+2+1]
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i) J. Chadwick discovered a subatomic particle that has no charge and has mass
nearly equal to that of a proton. Name the particle and give its location in the atom.

1
OR
If K and L shells of an atom are completely filled, find out:
a) The total number of electrons in the atom b) its valency? 1

ii) Write the chemical formula and name of the compound formed between:
a) Calcium and iodide ions b) Ammonium and sulphite ions

2
iii) Calculate the total mass of 1.2044 X 102" number of ethane (C.Hs) molecules.

2
36] i] Define 1 watt.
il An automobile engine propels a 1000 kg car (A) along a levelled road at a speed
of 36 km h. Find the power if the opposing frictional force is 100 N. Now, suppose
after travelling a distance of 200 m, this car collides with another stationery car (B) of
same mass and comes to rest. Let its engine also stop at the same time. Now, car
(B) starts moving on the same level road without getting its engine started. Find the
speed of the car (B) just after the collision. [1+2+2]
OR

i] Two objects of masses m: and m: having the same size are dropped
simultaneously from heights hi and hz respectively. Find out the ratio of time they
would take in reaching the ground. Will this ratio remain the same if one of the
objects is hollow and the other one is solid? Give reason.
ii] In a hypothetical case, if the diameter of the earth becomes half of its present
value and its mass becomes four times of its present value, then how would the

weight of any object on the surface of the earth be affected? [2+1+2]

Page 9
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General Instructions:

i. Question paper comprises Six Sections — A, B, C, D, E and F. There are 37
guestions in the question paper. All questions are compulsory.

ii. Section A — From question 1 to 20 are MCQs of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions,
carrying 2 marks each. Answer to each question should not exceed 40 words
iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying
3 marks each. Answer to each question should not exceed 60 words

v. Section D — Question no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words

vi. Section-E - Questions no from 34 to 36

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts,
37a from Geography (3marks) and 37b from History (2 marks)

viii. There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
guestions have to be attempted.

iX. In addition to this, separate instructions are given with each section and
guestion, wherever are case based questions with three sub questions and are

of 4 marks each.

Section A
MCQS [1X20]
1. What is India’s share in the-total geographical area of the world?
a) 2.2% b) 2.3%
c) 2.4% d) 2.5%
2.At which altitude can one find coniferous tress?
a) Between 500 and 1000 metres b) Between 1500 and 3000 metres
c¢) Between 1500 and 2000 metres d) Between 1000 and 1500 metres
Page 1

3.Arrange the following ranges from north to south:

1. Karakoram 2. Zaskar 3. Pir Panjal 4. Ladakh 5. Shiwalik
Select the correct code:

a) 3-2-1-4-5

b) 1-4-2-3-5

c) 1-2-3-4-5

d) 3-2-1-4-5

4.The River that forms Dhuandhar waterfall and a picturesque gorge of marble

rocks nearby Jabalpur:

a) Narmada b) Krishna

¢) Godavari c)Tapi

5. Which state of India has the lowest population density according to 2011
Census?

a) Nagaland b) Arunachal Pradesh

c) Assam d) Manipur

6.The German worker’s party was renamed the —
a) Nazis Communist Party b) German Communist Party
¢) Nationalist Socialist German’s workers c) None of these
7.Criminal Tribes Act was passed on

a) 1871 b) 1971

c) 1920 d} 1521

8.Who declared himself ‘the chief Executive of the country’?
a) Mao Zedong b) Nelson Mandela
¢) President Mugabe d) General Pervez Musharaff

9.Treason means-

a) A preliminary version of a legal document.

b) The most fundamental principles.

¢) The offence of attempting to overthrow the government of the state to which the
offender owes allegiance.

d) A meeting place that has been agreed upon.
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10.Kosovo was a province of which country?

a) Yugoslavia b) Saudi Arabia
¢) Czechoslovakia d) Albania
11.0ur country is divided into
a) 543 Constituencies b) 500 Constituencies
¢) 550 Constituencies d) 552 Constituencies
12.Which arguments are in favour of Democracy?

a) It is a more accountable form of government.

b) It provides a method to deal with differences and conflicts.
¢) It improves the quality of decision making.

d) All of these.

13.Who was the P.M of the interim government?

a) Somnath Labhiri b) Jawaharlal Nehru
¢) Sarojini Naidu d) None of the above
14.Which of the following is the most vital factor of production?
a) land b) labour

¢) physical capital d) human capital

15. In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the correct option:
Assertion (A) After Green Revolution the same piece of land would now produce far
larger quantities of foodgrains than was possible earlier.

Reason (R) Compared to the traditional seeds, the HYV seeds promised to produce
much greater amounts of grain on a single plant.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A)

c) Assertion (A) is true but Reason (R) is false

d) Assertion (A) is false but Reason (R) is true

Page 3

16.Which of the following state has the highest literacy level in India?

a) Kerala b) Odisha c¢) Jharkhand d) Bihar
17.Which of the following statements match with the disguised
unemployment?

a) It happens when people are not able to find jobs during some months of the year.
b) The work requires the service of five people but engages eight people and
contribution made by the three extra people does not add to the contribution
made by the five people.

b) People dependent upon agriculture usually faces such kind of problem.

c) There are certain busy seasons when sowing, harvesting, weeding and threshing
is done, but certain months do not provide much work to the people dependant on
agriculture.

18. Identify the social group that is most vulnerable to poverty.

a) schedule cast and schedule tribe household

b) rural agricultural labour household

¢) urban casual labour household

d) daily wage worker

19.Which of the following ration card is for the poorest of poor?

a) Antyodaya b) BPL

c) APL d) none of these

20.In which state is the Public Distribution System responsible for the
reduction of poverty?

a) Tamil Nadu and Punjab

¢) Tamil Nadu and Andhra Pradesh

b) Punjab and Haryana

d) Andhra Pradesh and Haryana

Section B
VERY SHORT ANSWER QUESTIONS [2X4=8)
21.Mention any four characteristics of the monsoon rainfall in India. [2]
22. What is Rule of law? [2]
23. What do you mean by Concentration Camp? [2]
24.What are the two methods of voting? [2]
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Section C
SHORT ANSWER BASED QUESTIONS [3x5=15]
25. Under what conditions, will a person be considered literate? Why literacy is

considered an important quality of a population? [1+2]
26. How did France became a Constitutional Monarchy? [3]
27.Study the graph and answer the following questions. [3]

Graph 2.1: Literacy rates in India

e e N \

a) What was the male literacy rate in the year 1991?
b) In which year India has the highest literacy rate?
c) Why is literacy rate high among the males in India?
28. What are the three evils which have been declared illegal under Right against
exploitation? [3]
29.What are the social indicators of poverty? [3]
Section D
LONG ANSWER BASED QUESTIONS [5x4=20]
30. What are the negative impacts of deforestation? What should we do to check
deforestation? OR [3+2]
What is sex ratio? Which states of India have the highest and lowest sex ratios
according to 2011 Census? What could be the reasons for such variations in sex
ratios? [1+2+2]
31.How did Hitler rise to power? [5]
OR

How did the life of the pastoralists changed under colonial rule? Page 5

32.What are the challenges to free and fair elections? Mention any five points. [5]

OR
Define Rights. Explain any three fundamental Rights. [2+3=5]
33.Why is buffer stock created? What is Public Distribution System? [2+3=5]
OR

What is issue price? What are the features of Public Distribution System? [1+4=5]

Section E

CASE BASED QUESTIONS

34. Read the source given below and answer the following questions:  [4]
A detailed account of the different physiographic units highlights the unique features
of each region. It would, however, be clear that each region complements the other
and makes the country richer in its natural resources. The mountains are the major
sources of water and forest wealth. The northern plains are the granaries of the
country. They provide the base for early civilisations. The plateau is a storehouse of
minerals, which has played a crucial role in the industrialisation of the country. The
Desert, Coastal region and Island groups provide sites for tourism, fishing and port
activities. Thus, the diverse physical features of the land have immense future
possibilities of development.
34.1] Which of the following are true with respect to the Indian Peninsular
plateau? [1]
I. The Deccan Plateau is an elevated table-land feature
I. It is the oldest physiographic division of India
llI. 1t is also known as the Store house of minerals
IV. The rivers Narmada flows between the Vindhyan and the Satpura ranges.

Select the correct option from the given codes:

a)landll b)I,Iland Il ¢) I, I, lll, and IV d) I, llland IV
34.2] Which one of the following is incorrect in context of the Northern Plains
of India? [1]

a) The Northern Plains is formed of alluvial soil
b) It spreads over an area of 7 lakh sq. km
¢) The Northern Plains are the granaries of the country
Page 6



d) Rich soil cover combined with adequate water supply and favourable climate it is
agriculturally not a productive part of India

34.3] Mention any two features of the Indian Desert. [2]
35.Read the source given below and answer the following questions: [4]
‘Nazi ideology was synonymous with Hitler's worldview. According to this there was
no equality between people, but only a racial hierarchy. In this view blond, blue-
eyed, Nordic German Aryans were at the top, while Jews were located at the lowest
rung. They came to be regarded as an anti-race, the arch-enemies of the Aryans. All
other coloured people were placed in between depending upon their external
features. Hitler’s racism borrowed from thinke like Charles Darwin and Herbert
Spencer. Darwin was a natural scientist who tried to explain the creation of plants
and animals through the concept of evolution and natural selection. Herbert
Spencerlater added the idea of survival of the fittest. According to this idea, only
those species survived on earth that could adapt themselves to changing climatic
conditions. We should bear in mind that Darwin never advocated human intervention
in what he thought was a purely natural process of selection

35.1]Hitler’s ideas on racialism were based on which thinkers?

35.2]Who were considered ‘Undesirable’ by Hitler.?

35.3]Who was Charles Darwin?

35.4]When did Nazism became a mass movement?

36.Read the source given below and answer the following questions: [4]
The office memorandum was the culmination of a long chain of events. The
Government of India had appointed the Second Backward Classes Commission in
1979. It was headed by B.P .Mandal and it was popularly called the Mandal
Commission .It was asked to determine the criteria to identify the socially and
educationally backward classes in India and recommend steps to be taken for their
advancement .The Commission gave its report in 1980 and made many
recommendations. One of these was that 27 per cent of government jobs be
reserved for the socially and educationally backward classes. The report and

recommendations were discussed in the parliament.

Page 7

For several years, many parliamentarians and parties kept demanding the
implementation of the commission’s recommendations. Then came the Lok Sabha
elections of 1989.1n its election manifesto, the Janata Dal promised that if voted to
power, it would implement the Mandal Commission report the Janata Dal did formthe

government after the election.lts leader V.P Singh became the PrimeMinister.

36.1] What is Office Memorandum? [1]

36.2] What did they demand for several years? [1]

36.3] Mention any one recommendation made by the commission? [1]

36.4] What is Mandal Commission? [1]
SECTION F

MAP SKILL BASED QUESTIONS [3+2=5]
37. On the Physical map of India locate, highlight and label the following
physical features: [Any three] [3]
a) Vindhyan Range
b) Western Ghats
¢) Chotanagpur Plateau
d) Narmada River
e) Godavari River
38.Two places A and B have been marked on the given outline map of the world.[2]
Identify then and write their correct names on the lines drawn near them
A. The place where the slave trade began in the seventeenth century.

B. The central power of the First World War.

Page 8



Modi Public School, Siliguri
Annual Examination 2022-23

Class 9 Al Time :2 Hrs F.M. :50

General Instructions:

1. Please read the instructions carefully.

2. This Question Paper consists of 21 questions in two sections: Section A &
Section B.

3. Section A has Objective type questions whereas Section B contains Subjective
type questions.

4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10
=) 15 questions in the allotted (maximum) time of 2 hours.

5. All questions of a particular section must be attempted in the correct order.
SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS):

SECTION B - SUBJECTIVE TYPE QUESTIONS (26 MARKS):

Section A: OBJECTIVE TYPE QUESTIONS
Q .1Answer any 4 out of the given 6 questions on Employability Skills:
Ax4=24)
i] What is/are the benefit/benefits of Self — management?
a. Self- discipline b. Smart working

c. Clarity of thoughts d. all of these.

ii] Which of the following is not an entrepreneurship skill ?
a.Risk taking b.Social Donation
c.Analytical ability d.Marketing amd sales

iii] Stress causing agents are :

a. Mental b. Physical c. Financial d. All of the above
ivlBusinessisan ................... activity.

a.Social b.Economic c.Hazardous d.selling

vlThe ..ol refers to activity based on new idea,a unique concept which

the entrepreneur is trying to bring to reality.
a.Enterpreneur b .Entrepreneurship c.Botha&b d.None
Vil is the area that one does well and is good at .

a.Strength b.Weakness c.Discipline d.Fear

Q -2 Answer any 5 out of the given 6 questions: (1 x 5 =5 marks)

i] Al is suitable to use with social media platforms in which of the following ways?
a. Al can learn from the data b. Bulk of data is sufficient for Al to train itself

c. Both a) and b)

d. None of these

ii] Al can help us reveal facts and information locked in immense
a. Server b. Database c. Data d. Algorithm
iii] A self-driven car is an example of which of the following?

a. Reactive machines b. Theory of mind
c. Limited memory d. Self-awareness
iv] IoT devices share with each other.

a. Data b. Signal c. Intelligence d. None of these
v] Al is capable to process enormous amount of
d. All of these

vi] An Al system processing CCTV camera recording to recognise a face is a

a. Text b. Images c. Audio

scenario referring to which of the following Al domains?
d. All of these
Q -3 Answer any 5 out of the given 6 questions (1 x 5 =5 marks)

a. Data b. Computer Vision c. NLP

i] In based approach, machines are on their own to analyse data

and see trends and patterns in it.

a. Rule b. Learning c. Both a) and b) d. None of these

ii] In rule-based approach, are defined by the help of data.

a. Rules b. Facts c. Relationships d. References
iii]l Which one of the following is not an application of Al?
b. Self-Driving Car

d. Self-Watering Plant System

a. Remote controlled Drone
c. Self-Service Kiosk

iv] Why Al is created?

a. To Implement Human Intelligence in Machines

b. To enable computers to perform such intellectual tasks as decision making,
problem solving, perception,

c. Both a & b are correct d. None.

v] Which of the following is/are Rule-Based Learning model?

i. Clustering ii. Classification
a.i&ii c. ii &iii b. i & 1 d.ii

(i refers to Al modelling where the underlying relationship or patterns in

iii. Regression

the data are not defined.

a. Rule-Based Approach c. Data relationship Approach



b. Random data Approach d. Learning-based Approach

Q -4 Answer any 5 out of the given 6 questions (Ix5=5)
i] Every neural network node is essentiallya ................ algorithm

a.Machine Learning b.Deep Learning
c.Supervised Learning d.Unsupervised Learning
iiflWhich of the following is an application of Neural Network ?
a.Sales forecasting b.Fraud Detection
c.Speech Recognition c.All of the mentioned

iii]The fundamental unit of Neural Network is.....

a.Brain b.Nucleus c.Neuron d.Axon
iv]What is true for neural networks ?

a.lt has set of nodes and connection b.Each nodes computes its weighted input
c.They are fault tolerant d.All of the mentioned
V]ANN stands for.......
a.Artificial Network Neural b. Ariel Network Neural
c.All Neural Network c.Artificial Neural Network

vi] Which of the following Al enabled virtual assistant is launched by Google ?

a.Bixby b.Alexa c.Siri d.Echo

Q -5 Answer any 5 out of the given 6 questions (1x5=5)
ijPythonisa ........... level language.

a.High b.Low c.Modern d.None of these

ii] A variable name cannot start witha ....................

a.Number b.Alphabets ¢.Symbol d.underscore
iiilThe % operator produces the ...............

a.Quotient b.Remainder c.Dividend d.Divisor
V], gives only the whole part as the result.

a.l/ b.// c.% d.&

v]Python was introduced by-

a.John McCarthy b.Guido Van Rossum  c.Monty Python d.Hopfield
VIJA is a set of instruction given to a computer .

a.Instruction b.Data c.Program d.Logic

SECTION B: SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3=6)
Q6]Explain two benefits of entrepreneurship
Q7]Define Strength and Weakness.
Q8]Write down two characteristics of entrepreneurship.
Q9] Difference between interests and abilities.
Q10]Write any four qualities of self-confident people.
Answer any 4 out of the given 6 questions in 20 — 30 words each (2x 4 =28)
Q11]Rewrite the following code in python after removing all syntax errors.Underline
each correction done in the code :

a,b,c=2,8,9

Print(a,b,c)

c¢,b,a=a,b,c

print(a;b;c)
Q12] What is the difference between interactive and script mode ?
Q13] What is the similarity between our brain and artificial neural network ?
Q14] What are operators ?give some example of logical and relational operator .
Q15] What is variable ?Give example
Q16] What are the three domains of Al ?
Answer any 3 out of the given 5 questions in 50— 80 words each (4 x 3=12)
Q17]Compare the working of the Human Intelligence and Artificial Intelligence.
Q18]What is Rule-based Al systems ?Explain
Q19]What is the importance of data in Al ?
Q20]Write a Program to find the area and perimeter of rectangle .

Q21] Write a python program to input marks of five subjects Physics, Chemistry,
Biology, Mathematics and Computer, calculate average and grade according to
given conditions:

If average >= 90 : Grade A

If average >= 80 : Grade B

If average >= 70 : Grade C

If average >= 60 : Grade D

If average >=40 : Grade E

If average < 40: Grade F



Modi Public School, Siliguri
Annual Examination 2022-23

Class 9B Data Science Time :2 Hr F.M. :50

General Instructions:

1. Please read the instructions carefully.

2. This Question Paper consists of two sections: Section A & Section B.

3. Section A has Objective type questions whereas Section B contains Subjective
type questions.

4. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS).

5. SECTION B — SUBJECTIVE TYPE QUESTIONS (26 MARKS).

SECTION A: OBJECTIVE TYPE QUESTIONS
1.Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4)

[[Deepti spends all her after-school hours to practice more and more sample
guestion papers. She wants to do well in her exams. This is an example of
[a]Self-Awareness [b]Self-Motivation

[c]Self-Regulation [d]None of the above

[ii] Danish performed on annual day function and learn something new,such as
dancing,singing etc. What type of motivation is this?
[a]internal [b]External [c]intermediate [d]None of the above

[iiifWhat is a short —range wireless communication technology called?

[a]Wi-Fi [b]internet [c]Bluetooth [d]PS

[iv] Which one of the following shortcut key is used to paste a file?

[a]Ctrl + C [b] Ctrl + P [c] Ctrl + V [d] Ctrl + X
[v] Business is a (an) activity.

[a]social [bleconomic [c]hazardous [d]selling

[vi]lwhat is the aim of entrepreneurship?
[a]Earn a profit [b]Solve customers’ need innovatively
[c]Both of the above [d]None of the above

2. Answer any 5 out of the given 6 questions (1 x 5=5 marks)
[i] How long is your data footprint visible?

a] It depends on the websites you visit

b] The data footprint wipes clean after a year

c] It creates a permanent record

d] The record never lasts for more than a month

[ii] You regret posting a particular picture and want to take it down. Is it possible, and
how would you do that?

a] Itis a little tricky but can be done by asking a professional to do it; then, no one
can see the photo.

b] You can delete the photo by using the delete button. Then no one can see the
photo anymore

c] Only the police can delete a picture uploaded by you

d] A photo can be deleted from your account, but someone might have already
saved it or copied it.

[iii] How can you improve your data footprint?

a] It is best not to post anything if you want to stay safe

b] It is not necessary to improve your data footprint

c] Check your social media privacy settings to make sure you are only sharing with
people you know and trust.

d] Share your personal information with a good friend or family member so they can
help you stay safe online

[iv] A food delivery app has asked for your feedback on the quality of the food. You
have written two paragraphs to describe the food. This is an example of:

a] Qualitative data b] Quantitative data

c] Both qualitative and quantitative data d] None of the above

[v] You need to predict what the temperature will be for next Friday. Which algorithm
will you use?
a] Clustering

c] Anomaly detection

b] Regression
d] Binary classification

[vi] You need to predict if your car tyre will last for the next 1000 km. Which algorithm
will you use?
a] Clustering
c] Anomaly detection

b] Regression
d] Binary classification

3.Answer any 5 out of the given 6 questions (1 x 5 =5 marks)
[i] Big data analysis does the following except
a] Collects data

c] Organizes data

b] Spreads data
d] Analyzes data

[ii] Primary data for the research process be collected through
a] Experiment b] Survey

c|Bothaandb d] None of the above

[ii] The advantage of secondary data are low cost, speed, availability, and flexibility
a] True b] False



[iv] Which of the following statements is false?
a]Data visualization can absorb information quickly.
b] Data visualization decreases the insights and takes slower decisions.

c] Data visualization is a type of visual art.
d] None of the above

[v] Which of the following is a use case of data visualization?
a] Healthcare b] Sales and Marketing

c] Politics/Campaigning d] All of the above

[vi] Bar Graph is a
a] One-dimensional graph
c]Graph with no dimension

b] Two-dimensional graph
d] None of the above

4. Answer any 5 out of the given 6 questions (1 x 5= 5 marks)
[i] Pie Chartis a

a] One-dimensional graph
c]Graph with no dimension

b] Two-dimensional graph
d] None of the above

[ii] Can a Line chart be used to plot multiple variables?
a]True b] False

[ii] The height of your classmates is recorded and arranged in ascending order. The
data is represented as a histogram. What type of shape does the histogram have
a]Right-skewed Distribution b] Left-skewed Distribution

c] Bimodal Distribution d] Random Distribution

[iv] You take some data for research from few users, is it ethical to share the results
back to the participants

a] Yes b] No
[v] Is it ethical to let your preconception or opinions interfere in the data collection
process?

a] Yes b] No

[vi] Data governance helps in which of the following
a] Cleaner data b] Better data c] Leaner data d] All of the above
5. Answer any 5 out of the given 6 questions (1 x 5=5 marks)
[i] Can you lie about the data collected and show the results in your favor?
a] Yes b]No

[ii] Which are pros of data visualization?
a] It can be accessed quickly by a wider audience.
c] It can misrepresent information

b] It can be distracting
d] None Of the above

[iii] Which are cons of data visualization?

a] It conveys a lot of information in a small space.
b] It makes your report more visually appealing.
c] visual data is distorted or excessively used.

d] None Of the above

[iv] Which one of the following is most basic and commonly used techniques?
a] Line charts b] Scatter plots
c] Population pyramids d] Area charts

[v] What is true about Data Visualization?

a] Data Visualization is used to communicate information clearly and efficiently to
users by the usage of information graphics such as tables and charts.

b] Data Visualization helps users in analyzing a large amount of data in a simpler
way.

c] Data Visualization makes complex data more accessible, understandable, and
usable.

d] All of the above

[vi] Social media platforms are responsible for creating data footprints
al Yes b] No
SECTION B: SUBJECTIVE TYPE QUESTIONS

6. Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6)
[a] Write a short note on the factors influencing self-management.

[b] Give any two uses of ICT at home.

[c]What is a web browser? Name any two web browsers.

[d] What is the difference between entrepreneur and entrepreneurship? Explain.

[e] Entrepreneurship has a positive impact on society. Write down any two.

7. Answer any 4 out of the given 6 questions in 20-30 words each (2 x 4 = 8)
[a] Explain the DIKW model.

[b] Why should you keep a data recovery plan?

[c] What are variables? How many types of variables?

[d] What is regression algorithm? Explain with an example.

[e] How to identify the usage trend of a website?

[f]why do we need ethical guidelines?

8. Answer any 3 out of the given 5 questions in 50-80 words each (4 x 3 =12)

[a]what is big data? How is Big Data used in social media?
[b]What is data visualization? Write the importance of data visualization.
[c] Give four examples of real-life use of data visualization and explain them.
[d] The value of pi (11) up to 50 decimal places is given below:
3.1415926535 8979323846 2643383279 5028841971 6939937510
[i] Make a frequency distribution table for the digits from 0 to 9 after the decimal
point.
[ii] Find the most and the least frequently occurring digits?
[e]why do we need to govern data?
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